Time : 3 Hours A Marks : 200
Instructions :

(i) Each question carries one mark.

(& @a%léo ¥ 26?602)_ o do.

(i1)) Choose the correct or most appropriate answer from the given options to the following
questions and darken, with blue/black ball point pen the corresponding digit 1, 2, 3 or 4
in the circle pertaining to the question number concerned in the OMR Answer Sheet,
separately supplied to you.

BHS aVYS (D (D adg &S ¢35t DO TS BIrErd B0y D)8V &7
2r00W woB 1, 2, 3 B8 4 T ad S OMR Jreed H(E008° (9418 Do 040DS
Sowg o DEE /el wrd rowod D) GHBVrA0D JoDB T,

1. A bank is giving loans at the rate of 10% simple interest. Kumar asked for a loan at 8%.
After verification, the bank sanctioned his loan at the rate he asked as the bank is getting
an interest twice as much as it gets on Rs. 40,00,000/- at the rate of 10%. What amount did
Kumar take ? (in lakhs of rupees)
a8 ergo 10% 28¢ H3& Seror 80308, H576 8% $88 dmo Sords. o,
g0°g&, w§o§o§o 88 $o090 D 2631) é%, g, 40,00,000 = 10% écé@s é?ﬁz) SnE o
2 B Bodod HIr6%H SHmrd) Howrd Tos. HIrE 8BKHd) SenTod?
®30% $& Twws (vfo Srardhod)
(1) 100 2) 90 (3) 200 (4) 180

2. The compound interest on a certain sum at 16% % per annum for 3 years is Rs. 12,700. The
simple interest on the same sum with same rate of interest and for the same period is
(1) Rs. 9,600 (2) Rs. 10,800 (3) Rs. 12,000 (4) Rs. 10,200
Jend 162/3% THPS 3 DodENorosH ol Iy 1)5L§§>§ 8. 12,700 ®020d38.
©T oy . w0 58 T, ©08 JHoWrIE Fgrdm I8

(1) &. 9,600 (2) $».10,800  (3) &». 12,000  (4) &x. 10,200

3. The compound interest of an amount P for one year at the rate of interest 8% per annum
is Rs. 600. The compound interest for 2 years at the same rate of interest for the same
amount P is

(1) Rs. 1,248 (2) Rs. 1,428 (3) Rs. 1,644 (4) Rs. 1,648

a8 Bodo P % 8% $& Terd® a8 DobEyord8 SN S(EDQ 6. 600. ©T Bwdo
P = ©d Téws® 2 fooéégcr’m@’s 263Q zSLéé%

(1) &». 1,248 (2) &> 1,428 (3) . 1,644 (4) . 1,648
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4. The ratio of the ages of Ramu and Gopi three years ago was 4 : 3 and two years later it
will be 5 : 4. The sum of their present ages is

3 fooéégd"m Bgo oo, fHho Sosdoe D&QQ 4 . 3, Todko fooéégcr’o SBoaeeb
©d 5 4 oPHood. 0 (DNE IS IwEo

(1) 41 (2) 43 (3) 45 (4) 48

5. Three containers have their volumes in the ratio 3 : 4 : 5. The containers are filled with the
mixture of milk and water. The containers have milk and water in the ratio 4 : 1, 3 : 1 and
5 : 2 respectively. The contents of these three mixtures are poured into a fourth container.
The ratio of milk and water in the fourth container is

Qardy F(Eo PIVOIrero a3 1 4 1 5 & ar@od o HOoiw Qe
Slo@féoo@s Qordy. & @1’@5@)6”320 oo, D& VR Yo v 4 11, 3 1 1 Sodds»
5 2. 88 Dogecko a‘)"Lé@@{’fO W(FHrod Troodd @Léé‘s FFL. P00 lD @*Lé@)s@ TP
500050 D¢ SRS

(1) 4:1 (2) 151 : 48 (3) 157 : 53 4) 5:3

6. If three numbers are in the ratio 3 : 4 : 5 such that the sum of their cubes is 1728, then the
cube of the middle number is

Hardy Dopge Povro InEo 1728 wThghwemr &) Dopge 08 3 : 45 wond
éoqﬁs :“ooaps WVE) PJDN

(1) 216 (2) 512 (3) 256 (4) 128

7. The electricity bill of a certain establishment is partly fixed and partly varies with the
number of units of electricity consumed. In a certain month when 540 units are consumed,
the bill is Rs. 1,800. In another month the consumed units are 620 and the bill is Rs. 2,040.
If 500 units of electricity is consumed in a month, the bill for that month is
(1) Rs. 1,560 (2) Rs. 1,600 (3) Rs. 1,620 (4) Rs. 1,680
2 g HoYH T ASgE Dwo o PFonr, FEFom IIWVrAODD JBgE
BardeLy  § SrEEr $owod. af Iod® 540 ardy AITBrEIE $DS Do
8. 1,800. $56°8 To® 620 05arde ITrmIE D)5 Do &r. 2,040, o8 Jos®
500 C5rdw AITBrA0DSDE $TY SogE Hod
(1) &. 1,560 (2) &. 1,600 (3) . 1,620 (4) . 1,680

8. 6 labourers can build a wall in 10 days. How many labourers of double the efficiency are
needed to build 3 such walls in 5 days ?
6 Hd DATFY @¥ g 10 SPerod® guiod. 208 TFow FHggo wdy
DATFoy ewmHod 3 Fdod 5 Sfwrod® £4ad8 Joddh sord?
(1) 36 (2) 18 (3) 20 4) 16
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9. There are 100 students in a class. Number of boys is 10 more than the number of girls. The
average weight of boys is 50 kg and average weight of the whole class is 45.5 kg. The
average weight of girls is (in kg)

w8 SSK8ST 100 H208 Z)wsgoen eI 8. wredd Jowg wrdfo Dowg 08 10
PE D, ol Dt Sy S50 8. SE58S5*D 8)65"5%50@0656 Dk Sowy 45.5 8.
rO8o Dty P (B (ros®)

(1) 40 (2) 45 (3) 50 (4) 52

10. In a team of eleven, the average age of eleven players is 28 years. What is the age of the
captain ?
I.  The captain is eleven years older than the youngest player.
II. The average age of 10 players, other than the captain is 27.3 years.
Choose the correct answer
(1) T alone gives the answer but not II (2) II alone gives the answer but not I
(3) I & II both are required for the answer (4) Iand Il both together can not give the answer
11 &ood do 23%)336%, 11 oo e:séam@é’@ Db DA% 28 DodEyoreo. whd I°dEE
YoshIrSToR
L 2460 98 ) 05 do womrd 08 oddds 11 doddyores 4.
I[I. Sc50%%osE, PADS HE Hood e:scbm@gf@ dfén HA%d 27.3 DoHEyore.
2T DHrgrSo D0wE 0d
(D128 8 3538 Sdrerdo adyos, I adgdy (2)I1 28T H3TL ddrerdo atyod, [ adgd
B) I &Il Todr Ddrarards wddIDo (4 LI Todr Edva, DIrerdo avgdH)

11. A library has an average of 510 visitors on Sundays and 240 on other days. The average
number of visitors per day in a month of 30 days beginning with a Saturday is
28 (Homrodirdd Vel wdIroros® 510 H08 H0dn WADS dorod® 240 Ho0d
Do&B @ HI. A SEn& Bwéoﬁbg 30 doren $OAS Sos® ¥ &8 ([ogreodiro8
255?23 DodE Yo DHoHO
(1) 250 (2) 276 (3) 280 (4) 285

12. Read the following statements

Number of candidates interviewed by panel A out of the three panels A, B, C is

I.  The three panels on an average interview 20 candidates every day.

II.  Number of candidates interviewed by A is 2 more than the number of candidates
interviewed by B and 1 more than that by C.

(1) I alone gives the answer (2) 1II alone gives the answer

(3) I & II do not give the answer (4) I & II together give the answer

& (ob argpgod ISH0d

Hogecbo @1’53@5\)@ A, B, C o&®, IS A = ro&Erg g Enfouh! é @g)’g%ﬁo@ dowg

L3 gB&oy difens (98 &%= 20 H208 wyfgdros aobdrgg DI o®.

L A3 rowdrgg Wokhg & wyigdho Jowg B 3 Badog ] e—se;fggoes’o@ 2, C3
Josg B g 08 1 255, '

(1) T 3-E30 vdrgrdo a00d (2) 1T 3@ ddrgrdo aod

(3) Taos II, Bodkr ddrerdo asg®y (4) laose Il Todr 0D S&rordo avon
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13. Assertion (A) : If the average of 20 numbers is zero, then there can be at the most
19 positive numbers among them.
Reason (R) : The average of the first 20 natural numbers is 10.5.
(1) Both (A) and (R) are individually true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are individually true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

D3 8B (A) @ 20 Jopge (D) DoTHO 0d) wond, &St doHom 19 &S
:“oong@o GO% DN,
s*do (R) P Dodd 20 dTre Ddowgo (dAw) dordd 10.5.

(1) (A) $:805» (R) Bodr aEddom 2353578 (A) & (R) ©3TD 8w
(2) (A) %005 (R) Bodr sdEddom HT5S 52 (A) & (R) $TD I88e 59
3) (A) 3358 59 (R) $05°
@) (A) %05°% 50 (R) $THS

14. An owner increases the rent of his house by 5% at the end of each year. If the current rent
is Rs. 3000 per month, what will be the rent, in rupees, after 2 years ?
28 308 HEIT S 308 @TI (D8 Doddy¥o WY 5% Dowerds. & 308
ad38 93 JoLH Er. 3000 00 ©onE, Tod LoISYre SSHTE 9T (SrardHod®)
Q0% &0e0od?
(1) 3300 (2) 3150 (3) 3307.50 (4) 3207.50

15. A man bought a horse and a carriage for Rs. 30,000. He sold the horse at a profit of 20%
and the carriage at a loss of 10%. Finally he gains 2% on the whole. The cost of the horse
is

(1) Rs. 9,000 (2) Rs. 10,000 (3) Rs. 12,000 (4) Rs. 15,000

a8 Hg 8 h(om) Ho0Bn MHEY ({320 8on. 30,0008 §aeydo. 88 (o(omR) @dd 20%
o8, BB A 10% S8 odryd. VI ol Bwngo QNS 2% e
dardo. Mo pb&H

(1) &=. 9,000 (2) &>. 10,000 (3) &>. 12,000 (4) &o. 15,000

16. On an article the manufacturer gains 10%, the wholesale dealer gains 15% and the retailer
gains 25%. If retail price of the article is Rs. 1,265, the production cost of it is
(1) Rs. 800 (2) Rs. 850 (3) Rs. 900 (4) Rs. 950
28 $HD, SBrbdads 10%, &°% argar08 15%, Dol argardd 25% ordgo
008, & SWH Wed & . 1,265 ®oNS, T $5rd B2
(1) &s=. 800 (2) . 850 (3) . 900 (4) . 950
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17. The difference of two numbers is 1660. If 7.5% of one number is equal to 12.5% of the
other number, then the two numbers are

Todko Dowge Hgg Fdo 1660. 8 Dopg Ty 7.5%, H08°¥ Qopg D) 12.5%8
DIPIFE @ Todk Domgen

(1) 2490, 4150 (2) 2510, 4170  (3) 2600, 4260  (4) 2700, 4360

18. In a group of people 72% drink coffee, 44% drink tea. If each person drinks coffee or tea
and if there are 40 persons who drink both then the number of people in the group is

2f JHrTosty HgHhod® T2% Hiod 5%, 44% %08 & (Eroerdy. ©odSt (H
K)S_éo oM, Sl (ederds, Bodr (&0 55800 40 $08 wonE & JHrHTod
Hg8e Dowg

(1) 250 (2) 200 (3) 300 (4) 450

19. A shopkeeper sells two T.V. sets for Rs. 20,000 each. On one he gains 15% and on the other
he loses 15%. Then, the shopkeeper’s gain or loss is

(1) gain of 2.25% (2) gain of 4% (3) loss of 4% (4) loss of 2.25%

a8 Sosreardody 287 8 TV & 20,000 S0 ypd Todks TVen @Z)o&mcéo. w8 TV
©50) 10D ©EI8 15% orgfdn $005n Todd TV 2 «@gd8 15% 90 S)36.
OHPd, @ $SHTEIE HDNS orydn TE L

(1) ooesdn 2.25% 2) oressn 4%  (3) Sps» 4%  (4) ISpdo 2.25%

20. A shopkeeper purchased a TV whose marked price is Rs. 16,000 from a dealer at two
successive discounts of 20% and then 10%. The shopkeeper spent Rs. 480 for transportation
of T.V. If he sold the T.V. for Rs. 15,000, his gain percentage is

a8 &% I g0 08 a8 Ssraardid (DESE Jo . 16,000 oy 28 TV
HEDe Tody Ehoy oo 20% & &g 10% o¢® )80 €I » TV Jarer
TDO3o@A8 8. 480 @8y wondd. wdd o TVI &r. 15,0008 &98)0&?3‘, ©gI8 HDHD
oy FPS D

(1) 30 (2) 25 (3) 20 4) 15

21. A shopkeeper finds that the profit earned by selling an article for Rs. 1,470 is equal to the
loss in selling the same article for Rs. 1,050. If he is to make a profit of 30%, the sale price
of the article should be (in rupees)

2.8 Sosterrdads af SV S, 1,4708 @&')0%3 HDNS e dw, 0T $V9HJ0 0. 1,0508
@EDJ&@ IS 26563663358 DOFFoNISI HHoQoardy. B8 & SWD @éo&ééweﬁ’s 30%
oS0 P00 E, e DN GoddoNI ©HEY S (Srroned®)

(1) 1638 2) 1600 (3) 1578 (4) 1532
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22. A and B started a business with Rs. 16,000 and Rs. 12,000 respectively as investments.

After 3 months A withdrew Rs. 5,000 and B invested Rs. 5,000 more. After 3 more months
g ]021284 (%w business by investing Rs. 21,000. After a year they got a total profit of
s. 26,400.

Observe the following statements

(a) The profit must be shared among A, B, C in the ratio 7 : 9 : 6

(b) (Profit of B — Profit of C) = Rs. 3,600

(c) A’s profit is Rs. 16,000

The correct answer is

(1) (a), (b) are correct (2) (b), (c) are correct

(3) (a), (c) are correct (4) All (a), (b), (c) are correct

A $20805» Beo $80m0 8. 16,000, Soe. 12,0000 =oéw &&° ¥ Frgardo (r8oowrdo.
3 Jvo SShad A, . 5,000 326%2r @?oé"’s"gvcéo; B zos® . 5,000 &0 &
DKo, 1088 3 Joo $Hhard C, 8r. 21,0000 i d8° srgardod® Toardo. of
DodEyBo Shard &r08 Bwdo . 26,400/-0 orgo HV))od.

Bod (DIWdBweo $0300B0&

(a) ored) A, B, Ceo0 7:9:6 3&3@3@@5% H0LoE 5Bl

(b) (B &8 oregfo - C 8 orgfo) = 8o 3,600/-

(c) A8 . 16,000/- orefo

DOOBS DIrgrdo

(1) (a), (b) @ 20035 (2) (b), (c) @ H00NID

(3) (a), (¢) @ D8I 4) (a), (b), (c) o» @bl ISTeNCSEISIY)

23. A s twice as efficient as B and together they can finish a work in 18 days. A alone can
finish the work in

(1) 27 days (2) 54 days (3) 36 days (4) 45 days

B &) A Bgop Fodgo& H1 Tohdeds $0050 J0SEr 8B af HAD
18 Serod® Gro Bobhdeds. A af)d & DI Hro Dohde Dooso

(1) 27 &%een (2) 54 &*eren (3) 36 &*eren (4) 45 &%z

24. A and B undertake to do a piece of work for Rs. 6,000. A alone can do it in 6 days and
B alone can do it in 8 days. With the help of C, they finish it in 3 days. The share of
C in the amount is

(1) Rs. 3,000 (2) Rs. 2,250 (3) Rs. 750 (4) Rs. 1,500
A, B oo 2 9D 8r. 6,0008 Hro Tooards edp8ae . & DD A afyd 6

&erod®ir, B w8y 8 BP0t Yro Wohded. C 080508 28 & DA 3
SPerod® {ro Bard. @“éoaé@{’ C ®0g) erido

(1) . 3,000 (2) 8x.2,250 (3) &x. 750 (4) 8x. 1,500
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25. A cricket game is played between two teams with 50 overs. In the first ten overs of the
game the run rate was only 3.2. In the next ten overs it is increased to 4.6. If the captain
decides that the teams’ total should be 303 runs, what should be the run rate for the
remaining 30 overs ?

Tody =i a8 50 498 (833E wod srron. soS™) Budd 10 LIS Hhike
Dordd 3.2 SSHae 10 éoégef ©8 4.68 0NH0d. = J0HE Judo Do

303 BOSJ"SGEO Dgooffg 2AdS 30 é;égé*’ Do Horbd dod Gowd?
(1) 6.25 (2) 6.5 3) 7.0 4 7.5

26. A company paid Rs. 6,00,000 as bonus to its employees at different levels A, B and C. Each
employee at level A receives one and half times of the amount that was paid to each
employee at level B and each employee at level B was paid twice the amount paid to the
employee at level C. If 50 employees were on level A, 75 on level B and 100 on level C,
how much amount was paid to each employee of level A ?

(1) Rs. 1,500 (2) Rs. 3,000 (3) Rs. 4,500 (4) Rs. 6,000
A, B 508050 C e9do gvoooe)eﬁ”s &) é&sgﬁoes’o a8 0 I, 6,00,000 Sndo AR Yo
ad0d. A Fons®d é&’sgﬁé DS Bngo B Fons®d ¢&ghs adyd Inends 28858
Téw 563805:33 B Jronod®d &&°gn8 adys Bvoe_ﬁ;o C Fond®d «¢&gh8 adyd Sooeds
Todko T&o. A Q"o&ocﬁ“g 50 %008, B rons® 75 $00, C Fons® 100 H208 & gHe00d
A cg"’ooaé's &263; a¥ a&gn8 a{)QES.zS'Bzéﬁ Qo&? |

(1) &x. 1,500 (2) &x. 3,000 (3) &x. 4,500 4) 8. 6,000

27. While covering a distance of 24 km, a man notices that after walking for 1 hour and

5
40 minutes, the distance covered by him was 5 of the remaining distance. His speed of

walking is
(1) 9 km/hour (2) 6 km/hour (3) 10 km/hour (4) 8 km/hour

24 8.5 &Eroey (HBrB0T (EHo0dt & $g8 2% How 40 Jorer HEVS SHad,

5
@S5 WAL Srdost 7 Sod &rdo (DArBomrdd dodowrdr. g SdE =80

(1) 9 8ds/K0e (2) 6 8%/f0e  (3) 10 8Ds/foe  (4) 8 8do/fos
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28. A cyclist reaches a certain place in 6 hours. If he reduces his speed by %th, he goes 5 km
less in the same time. His speed (in km/hour)
af $g8 8T (HXrBoD, ¥ (T 6 foved® Jdord. & Hg8 «dd Ty
o8& Hods é@oiﬁo&o'&ﬁ, OB HH0%os® wsds 5 8 EEND (DABTrBI @ @S SKo
(8o/Ko& %)

(1) 5 @) 4¢ () 45 “4 3¢

29. Two trains are running in opposite directions with the same speed. If the length of each train
is 100 meters and they cross each other in 10 seconds, then the speed of each train is
(in km/hour)

Tody B¥oy $g8TE 8HS° 2T BHo& (HaSreddyaryon. 2878 Teo dH 100
N6 G0d ©d 28I HHEES 10 DEIS' oEE, 287 8) DTeoo TwE) o

(Fo& §e3’8§)oé3§§e3”s)
(1) 84 2) 72 (3) 36 (4) 32

30. The distance between two stations A, B is 390 km. A train starts from station A at 10 AM
and travels towards station B at 65 kmph. Another train starts from station B at 11 AM and
travels towards station A at 35 kmph. The time they meet is

A %0050 B 90 Hogg 8780 390 8.00. &8 Teo R0 A $¢ 10 AME 65 8.9v/0
S0 00T A B FH (Hdrsdbeos. 368 Teo Ras B £ 11 AME
35 8ao/do BHo&  BrenTO DaD A Y (DTS00, 9 FordodHT Ddocko

(1) 2 PM (2) 2.15 PM (3) 2.30 PM (4) 2.45 PM

31. The number of times in a day, the hour and minute hands of a clock are in a straight line
but opposite in direction, is
w8 8fwd® HR0rSos®d Kowe %0o%m Jdre 2533%50@ w8 DT Tas?t, ég@és’
&%t D) Y wowron
(1) 20 2) 22 (3) 24 (4) 44

32. A watch gains 5 secs in 4 mins and was set right at 8 AM. What time will it show at
9 PM on the same day ?
u¥ T3 H&osrdo (28 ooy ADareodH 5 DED oo &0, oA
e&050 8 dovodH HOTH »d 8w @ 9 HobodH ©d Wre B Jod?
(1) 9:15:00 PM (2) 9:16:15 PM (3) 9:14:15 PM (4) 9:15:05 PM
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33. The last day of a century cannot be

(1) Monday (2) Wednesday (3) Friday (4) Saturday
o0 0’ DVH0 S »HBIO
(1) &oado 2) sdaxSo (3) HEa5o (4) $daSo

34. X and Y invest in a business in the ratio 2 : 3. After donating 10% of the total profit to a
school, X gets Rs. 900 as profit. Then Y’s profit is

(1) Rs. 1,600 (2) Rs. 2,500 (3) Rs. 2,250 (4) Rs. 1,350

o mgfﬁdo& X $000%0 Yeo 2 : 3 Dﬁlaé_%eﬁ% e & Yrd. Ingo orefos® 10%,
a8 FrETodH dorFomr gu)d S&hard X8 Irr. 900 orgfo SDNod. @i Y H0)S
oo

(1) &. 1,600 (2) . 2,500 3) . 2,250 4) . 1,350

35. Ram and Shyam enter into a partnership. Ram supplies whole of the capital amounting to
Rs. 60,000 with the condition that the profits are to be equally divided and that Shyam pays
Ram interest on half of the capital at 10% per annum, but receives Rs. 150 per month for
carrying on the concern. Find their total yearly profit when Shyam’s income is half of
Ram’s income.

(1) Rs. 10,800 (2) Rs. 8,400 (3) Rs. 14,200 (4) Rs. 12,600

ore Hod s 'T’SSOQJ wﬁ@séogoé‘s Sngo & 60,000 Ky 0 o D & DG
VNS gy ddrdone D0WHTobo H50 05w g0 Do e & WS R
Doddyorv8 10% 66(29 W), d°gardo J&PoVI0BE JodHh S 150 @fooéaﬁéaégom
2BDy0d0 HBBENHINE. TRy o0 & oreo o &s® %o c%;é‘lgq)ow@, J"Sé"doé’s
NS Dwgo JodEYE orgfo Jod?

(1) &-. 10,800 (2) &o. 8,400 (3) &= 14,200 (4) 8. 12,600

36. In a Geometrical figure if radius is 7 units and height is 6 units, match the following
(assuming suitable units and take m = 22/7).

(a) Area of the circle (i) 264
(b) Volume of the cone (i) 924
(¢) Volume of the cylinder (iii) 154

(d) Curved surface area of the cylinder (iv) 308
wsc‘i}oéoﬁo Herod® Fgrdo T C5rdio, By 6 CSrdew &0® & (808 ¢
2EDEL08 (DTS Borddw B08%0&, m=22/7 ©d &%808).

(a) )E JwTrogdn (1) 264
(b)) %0%H DodDH0Ireadn (i1) 924
(€) Prddn PIIDOIIe Db (ii1) 154
(d) Prdo SESo Baogo (iv) 308

(a) (b) (c) (d)
(I ay G G @0
2 G Gv) (D) (1)
) Gv) @) (i) (1)
4) (i) @ Gy (i)
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37. Match the following

List—I List—II
(a) Cuboid (1) Square
(b) Cube (i1) Circle
(c) Sphere (iii) Triangle
(d) Cone (iv) Rectangle
Bod &8 =g Bokod

de—I erde—II
(a) &g Hodo (i) $S88%o0
(b) Hado (i) $ydo
(c) A*Fd» (111) (Baoezd0
(d) o0& (iv) &gS&8d0

(a) (b) (c) (d)
O Gy G ()
@ ) @ (i) (i)
G @y O Gy ()
4 Gy G @ 3v)

38. If the length of a certain rectangle is decreased by 4 cm and width is increased by 3 cm,
a square with the same area as the original rectangle would result in. The perimeter of the
original rectangle in cm is
¥ égzﬁéodﬁoo Vo) eI 4 cm EHow Véeoyde 3 cm 2003 Dda&é
BEG(D STogo, BISSHED ITogos JVEFrIHPNB08. oPE SYTSE(DY ok
Fod wo.dos® A
(1) 46 (2) 48 (3) 50 (4) 52

39. Ramu cuts a metal plate into two equal halves. He again cuts one half into smaller pieces
of equal size. Each small piece is of 20 grams in weight. If he has a total of 7 pieces of
the metal, what was the weight of the original plate in grams ?
oH0 wf SR TEHI Todo v grrroom E80owrds. 80A a8 D grmrd) DX
PO &) W) S oo EEoowrds. (D8 WI) SwE) W) oy 20 (. «EE
& Bougo 7 T ESRNEPRY &0, wdd EB00WS B TEH B (.o Jod?

(1) 140 2) 160 (3) 210 (4) 240

40. Two metallic cones of heights 4.1 cm and 4.3 c¢cm and each radius of base radius as
2.1 cm are melted together and recast into a sphere. The diameter of the sphere in cm is

4.1 200.05 $5005» 4.3 0.0 JFew, 288 od8 2.1 Do Frargrgo £8A &)
Tody PR JoHdHod E0Aod ¥ HFom HOTH. ¢ FEY T°GOH0 20.200¢
(1) 42 (2) 45 (3) 438 4 5

IS 2016 D 10 G



41.

/D

What least number must be added to 2000 to get a number exactly divisible by 19 ?

2000 Hompgd 2 & D) Dopgde LOHDIS HWo) Dowg 19 T& JFyhdom
A oS Bodo?

(1) 14 2) 5 3) 1 4) 3

42.

A DWACRA woman wants to make candles out of a wax block of dimensions 60 cm,
35 c¢m, and 22 cms. The number of cylindrical candles that can be made with diameter
7 cms and height 4 cms is (Take m = 22/7)

a8 @g(s° HE 60 =200.800, 35 0.0 $28050 22 200.000 &) Eo:éééoo@s S Srgdoen
305?50260?26;&, 7 200.200 a"’?gfozéoo $26050 4 0.0 Qé_gé‘s 055080 Boﬁogﬁ©ﬂé
Ygr@“smdég) §S38y0 Vowg (T = 22/7Te 3%08%08 )

(1) 75 (2) 150 (3) 300 (4) 400

43.

Find the greatest of the following numbers
& (800 Dopgod® ®d DY Domg EHoA"HIH»

V5 =3, N7 =5, o -7, V11 -9
(M J5-43 2) J7-45 3) J11-9 @ Jo-7

44.

Five bells begin to toll together and they toll at intervals of 6, 5, 7, 10 and 12 seconds
respectively. How many times they toll together in one hour excluding the one at the start ?

5 okeo 2TI0 (BrHdo Bode Déron. &8 Hobeo DL 6, 5, 7, 10 H0805%0
12 ?os’océ §’°§2}_©"6 (Bordodo. JEEI0  (Brads BS’&_%%&OW &0, =¥ Kok
HDH005008° @ &9&; Ao OV (Brefodo?

(1) 7 2) 8 3) 9 4) 10

45.

In a mixture of milk and water of 40 litres water is 5%. The amount of water (in litres) to
be added to this mixture so as to make water 10% is

e, fD@;’o@) 508 40 &Y (F00d® I8 5%. 8 Lo 10% @ﬁog@go 208°Qy)
@%‘5\)@ &3 S)o@férbé? Eorood, ¥oddoDd D8 Hodrmo (@cbgé’s)

1 1 2 1
(1) Sy @) 33 3 25 “) 6

46.

The number of integers which are not perfect squares between 162 and 177 is
16" %0050 177 S0y HORrg $¢dnes 50 Grgose bowg
(1) 32 (2) 33 (3) 34 (4) 28
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The difference between the compound interest and simple interest on a certain sum at 10%
per annum for 2 years is Rs. 631. The sum is

(1) Rs. 63,000 (2) Rs. 63,100 (3) Rs. 63,500  (4) Rs. 63,600

§°0¢ @”26333/23 0% 10% D pS Todks DodEyoroH 75@25% 00050 IS
éé@ DG Pdo S, 631. Sndo @“’Eéoo&

(1) &x. 63,000 (2) &x. 63,100  (3) &x. 63,500  (4) &. 63,600

48.

If an amount of Rs. 80,000/- was kept in a bank for a compound interest at the rate of 10%
per year to get an interest of Rs. 16,800/-, then the amount was in the bank for a period of
(1) 1% years (2) 2 years (3) 2'% years (4) 3 years

obos 8. 80,000/- o o088 10% H(EHE Tew& Sr. 16,800 $& $Ty&o el
25°§o§oe54’ &o0NS © wdHood ar’gos’oeﬁ's GOWd SPODONS

(1) 12 dod&yoren (2) 2 Dodgyoren (3) 2)2 Doddyoren (4) 3 vodEyorew

49.

A person gives a loan of Rs. 50,000 at a rate of 8% per annum simple interest for 2 years
and another Rs. 50,000 at the same rate compounded annually for 2 years. After 2 years the
difference in the amount he gets back is

w8 $g 8 . 50,0008 8% Jrgrden ééé 2 DodEyoro8 Somonr ywr )k H20050
$:68° 8. 50,0000 ©T Tood Feodd SEIRE 2 Jodyored aw k. 80%@5@
gShard 048 808 T Bwzod® Fdo

(1) 300 (2) 320 (3) 360 (4) 380

50.

Match the following
A sum of money is lent at simple interest. Then the money gets doubled if

Rate of interest No. of years
(i) 16%% (a) 12%
(i) 20% (b) 6
(i11) 8% () 5

Bod A0 =ENIL0d
§0d PI0yd Ferde éé% ORNOIE IO, & Bwdo TR odws

éc;% FS0 o P Sowg
G) 16%% @) 12%
(i) 20% () 6
(iii) 8% © 5

(1) (i) (i)
(I (@ (b) (c)
2 (9 (b) (a)
G @ (c) (b)
4) (b (c) (a)
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51. A motor car starts with a speed of 70 kmph with its speed increasing for every two hours

by 10 kmph. The time taken to cover 360 kms is

(1) 4 hours 20 minutes (2) 4 hours 30 minutes

(3) 4 hours 40 minutes (4) 4 hours 50 minutes

a8 Irerd 528 70 80/Ko B0 FodB (98 Tods Howedr 10 8J/fo Bmrdy
20B0%0008. & 8% 360 8.2 BrorQ) (PISrefos 8 XJ'@ Ddoas00

(1) 4 oo 20 Jdoared (2) 4 Hovo 30 Jdoaren

(3) 4 Koveo 40 Jdoared (4) 4 Hoveo 50 Jdoaren

52. AB is a straight line. An insect starts from A and moves vertically up through 4 cms and
then horizontally towards right through 3 cms and again vertically up through 2 cms and
horizontally towards right through 2 cms and finally vertically down to reach B. Then the
area of the figure formed (in sq. cms) is
AB 2. 03¥Tw. a8 DS A H008 00T &g gdnpomr 8 4 0.0 ¥89,
éa@@ HEBY § 8z VIroLSomr 3 Do.deo 6O X)o@@ 8§ g o 2 200.2000
6O, 80 HAIY 8z JdrodIon 2 0.0 60 VIS Bobsd & Sowomr
S0 B T000. odypds 2838 D0Y BToghn (SSEH oo
(1) 24 (2) 26 (3) 30 (4) 144

53. A person walks 40 m in the North-East direction and turns 90° to his left and walks 40 m.
Then, he walks 4(,/2 m towards south. Then, the distance between the starting point and

the last point is (in meters)
a8 Sg & Siardg 633 40 Q. Brddn I8D, 3 8% BY 90° 88A 40 o SrSHw

S, wdpdo S8 OIS 4042 . BrEHH Sdodrdy. SdE (S0 DodX)s
S8E Hro Bd dodHo Dogg drdBnw (.07

(1) 0 (2) 60 3) 6042 (4) 8042
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54. A person walks in the given directions as follows
(i) 60 m to East ; (ii) then 80 m to South; (iii) then 120 m to West; (iv) then 30 m to North
and (v) then 60 m to East. The distance between the starting point and the last point is
(in meters)
2¥ $g8 (808 adys %S S
() 8780y O%S® 60 Do (i) SSrard S8 BFS® 80 Qo5 (iil) @ HEBE 64S* 120 Jo.s
(iv) 85500 &d8 04S® 30 Do, Ho0dbw (V) wdoddo Srdy BFS® 60 Q. Sdodho.
©d0) I&E (EoDoND oD, S Fro Bwd DodHo Dogg B8 (.08
(1) 30 (2) 50 (3) 60 (4) 120

55. A person walks 250 m towards East, then walks 50 m towards North, then walks 300 m
towards West. The distance between the starting point and the last point is (in meters)

a8 $g8 Erdy 048 250 . Sy, wdydy &E8 0FST 50 Do, ST
©D Y% DEDS &%t 300 do. QBT W, ¥EJ JdE (FPToPoNI Do), Jd8 Yo
TR DoddHo DGy BrdBnw (.05

(1) 30 () 6042 (3) 10042 4) 5042

56. A person facing East moves 30 m towards East and then moves a distance of 40 m towards
South and then moves 60 m towards West. How far is he from the initial point in m

Er8o)sH wdlopomr wd) Hg8 Lrdy oSy 30 ﬁbéogo S&orE Sfwo IV
40 .00 38D w2 DEHE BY 60 .00 ST BodE DodoH) H00d wEBoY
Er8os® Goydy (0.08°)

(1) 50 (2) 60 3) 70 (4) 130

57. Find the missing number in the sequence 120, 99, 80, 63, 48, ?

120, 99, 80, 63, 48, ? &3 @260@’2630@5‘5 S*PoRD fooaog;éo SPSTORRNRRVRS)
(1) 35 (2) 38 3) 39 (4) 40

58. Find the next term in the sequence 589654237, 89654237, 8965423, 965423, ?
589654237, 89654237, 8965423, 965423, ? @3 w00’ oard Do E58% 08
(1) 96542 (2) 65423 (3) 96543 (4) 65234
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Read the following data and answer Questions 59, 60, and 61 :

Out of a total of 35 students, 16 want to study French, 16 want to study Sanskrit and 11
want to study Telugu. 5 want to study both French and Telugu, and of these three want to
study Sanskrit as well. 5 want to study only Telugu and 8 want to study only Sanskrit.

Bod deroddn N6 59, 60, 61 (D) oH 2aVIgos :
Sndo 35 Hod 3)55"5%50@@5*’ 16 008 (How, 16 Ho0d DDy y&Hn H0dB» 11 Lood
Boory BB DD08 0w 8. 5 8y (oW Ho0dBw Swoiy Todr SSared, 208
dodods Dod) yEo Erwe BT ©32800oF 8. 5 sy SBoa éJ"Léﬁo INAFVLIP)
a;"Z)'fgo, 8 Hood Dody ydo éPLéTago DISEM SIS PSSESIOT I [ B

59. Match the following :

List-I List-I1
(Choice of Languages) (No. of Students)

(a) Only French and Sanskrit i) 2

(b) AIll French, Sanskrit and Telugu @i1) 1

(c) Only French and Telugu (i) 4

(d) Only Sanskrit and Telugu (iv) 3

Bod &8 =BVILos :

el A loar B |
(RO A Eod) (Rargdow dowg)

(a) (90D Ho00n HodyyFo SrETh (i 2

(b) (oD, Dodyydo L0 Vo @) (i) 1

(€) (HoD Ho0BH Vool Ho°($ R0 (ii1) 4

(d) D0l ydo H0b» Bewid oS o @iv) 3

(@ (B () @
(h @iy Gv) @O (i)
(2) (i) @) @) ()
() Gv) @Gi) G @)
4) ) @ >3 (v)

60. Which one of the following statements is not correct ?
(a) 10 students want to study at least two of the three languages
(b) 5 students do not want to study any of the three languages
(c) 4 students want to study all the three languages
(d) 7 students want to study only French
(Bo& ad)d (DdITres® & $05°E?
(a) 10 Ho0d Dwsgoeo 3 rhed® £0%o Todoidar) Wharodgoboar)d
(b) 5 > dargdows Hords a0t D& re ISrodsiddo B
(c) 4 %8 Dw"sgom Qary R e WRHT HIDIEI0LIT) 8
(d) 7 &0 S)mggom (oD Jor(EHo DISEACREESII R eN

(1 () 2) () 3) (© 4 (@
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(a) 30 students want to study at least one of the three languages

61. Read the following statements :

(b) 20 students want to study only one of the three languages
(c) 2 students want to study only the two languages Sanskrit and Telugu

The correct answer is

(1) (a) is correct but (b) and (c) are wrong

(2) (a), (b) and (c) all are correct

(3) (a) and (b) are correct but (c) is wrong

(4) (a) and (c) are correct but (b) is wrong

Bod (DIdVrod WdHod

(8) 30 %08 dargdowo DHar ik PR o V0 ) T WS 0B800T7) 8
(b) 20 Ho0d Ddargdoren HrEo8S” wg) I IrEHo SdTrolE 00T 8

() agd Dwggooo 000 YE0o D0 Boaih Todod S o F ST 0B80005°) 80
DVOODPS DIrerd b0

(1) (a) ¥3IT 572 (b) LwodBn (c) HO5°K

(2) (a), (b) L0008» (c) Lords HTIS

(3) (a) %605 (b) ©TIT 520 () DO

(4) (a) H0B0 (c) HBIX 52 (b) Hds°So

The number in the figures in Questions 62, 63 follow a pattern. Find the number in
the place marked (?).

Bod 2D 62, 63 (B o Dedwed® Sopgeo ¥ ERo2S8S° oo, (2) DES S STy
&oa;g é’zéoé'szroc%.

313 7158 5141 2189
62. 1515 3[40 419 539
(1) 9 ) 8 3) 7 4) 6
418 6112 12136 > 120
63. 1512 I 3] 4 215
(1) 16 2) 8 3) 10 4) 2
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64. A silver cuboid of dimensions 5.5 cms x 5 ¢cm x 4.2 c¢cms is melted to form circular coins
of diameter 1.75 c¢cms and thickness 4 mm. Then the number of coins made from the silver
metal is (Take mw = 22/7)
55cms X 5cm x 4.2 cms Sodeon o ¥ Fod ég PorR) E6hAow 1.75 cms TGO H0
$:005» 4mm  H085» fo T TBed SArH V. wdypd Fod oo
508 $05r3S B Doy (M =227 od 8%804)

(1) 120 2) 80 (3) 60 4) 12

65. A rectangular field has its breadth and length in the ratio 4 : 5. If the breadth of the field
is 20 m less than the length, then the perimeter of the field in m is

&g S& S| Frseos® &) w8 Podn BV Jdoo)y, 2 4 15 EOK:{Q@;QS”S HoR).

& POD0 Vo) Voo PR o) 20 m E&H) dm @élﬁs, © PONN B0 Wk
Fod d.od

(1) 240 (2) 300 (3) 360 (4) 540

The numbers in the following figures follow a pattern. Using this information, find the
number in the place marked (?) in Questions 66, 67 and 68.

Bod ad)d Hedod® Sopges ol EHREBS® aIm on. & JSTTEHN GHTAD, (BFHo0
66, 67, 682 (?) e Ste 26?313 Sopgde s’:éoé’sa,oc%.

1 3 A
3@5 1@3 62
8 8 !
4
66. 6—<j:>—3
2
(1) 26 2) 28 (3) 30 4) 32
6. @
o
5
(1 3 (2) 4 (3) 5 4) 6
68. 12
%— (1212
@
3 1
(1) 2 @ 5 G 5 4 1
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(a) Any two similar figures are equal

69. Consider the following statements

(b) Two circles with radii 4 cm and 5 cms are similar

(c) A square and a rhombus are similar

(d) An equilateral triangle of side 3 cms is similar to an equilateral triangle of side 4 cms

Which of the above statement/s is/are correct ?

(1) (a) and (c) (2) (b) and (d)

(3) (a), (b) and (c) (4) (a) only

S (800 (DdVorolo H08D0F0d

(a)  Tod VEFrD HErBor DITSOM G0LToN

(b) 4 =o.o msb"géw $08050 5 0.0 mgir’géw Jo Tod Symreo DS

(€) WSO Hooe, Vo B yedn DIrares

(d) 3 Do.de hHedn do K‘)éoarf’ﬁwo (Bghedn, 4 o.do ghudn do vHoerdro
(B80erI8 JIrHE0

D (DB FTroS” JB/AD HDTIE?

(1) (a) 200050 (c) (2) (b) H000%» (d)

(3) (a), (b) 000350 (c) 4 (@) 288

70. Match the following

(a) Mahalanobis (1) oo

(b) Srinivasa Ramanujan (i) First Indian Satellite

(c) Bhaskara (iii)) Number Theory

(d) Aryabhatta (iv) Indian Statistical Institute

Bod o8I wEErENo&

(a) $oSDD (i) o

(b) B0 ordrdomd (i) BosE 88 sdHHro

(€) =& d8 (iil) dogrg a0 9d»

(d) o8¢ (Iv) 208058 FERES adQwrgd

@ (B () @
() Gv) @) @) (i)
(2) G @Gv) @G (@)
() (i) @) G @)
4 O i) ) (Gv)
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16
71. What is the value of m, if
(i) x=#-16, and (i) x> + 32x = 320
16
(i) x # —16, %2805 (ii) x> + 32x = 320 wonS (x+16)? Do 2087
1) 36 2 . 3 L 4 L
(1) @) 576 G 350 @ 36

72. The area of a rectangle is 60 sq. units. If the length and breadth are reduced respectively
by 6 units and 2 units, it becomes a square. Then the area of the square (in sq. units) is

o 5g TEG(0Y BFTogo 00 SIEYH ardew. o0 e, Vdoojod HEI
6 CBord&y Ho0asn 2 arddd e‘é{j'fg ®0 28 BSG(ONE0H. O YPE & BSI(OY
BToghn (JEEY B3rdysh)

(1) 4 2) 9 (3) 16 (4) 36

73. Consider the following statements
(a) The higher the sun is in the sky, the shortest the shadow of an object on the earth
(b) The shortest shadow of an object occurs at local noon
(c) On the new moon day, the sun and the moon are on either side of the earth
Which of the statements given above is/are correct ?
(1) (a) and (b) (2) (a) and (c)
(3) (a), (b) and (c) (4) Only (b)
Bod av)d (dIVTod $H030%0d

(a) es*¥os® Drdogdy o DE0 G08, Frdow af 50D D& wodb VI
GOoeoo&

(b) 28 $09H @8 DI) ¢ o (Fody o BoGrgir10St DE08
(€) odrardg ddy Drdgds, Wo(Baky P BWEE IPS wowrdd
DS DS (DIUT0S 2B/ DTIJ?

(1) (a) 00050 (b) (2) (a) L0005 ()

(3) (a), (b) L2080 (c) (4) (b) &5, @
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The area (in sq. units) of the polygon whose vertices are (0,0), (4,0), (4,4), (2,2) and (0,3) is
(0,0), (4,0), (4,4), (2,2) 0050 (0,3)e0 Bgreom &)  T70Ehe ST0g0 (SEEY rdys®)
(1) 11 2) 14 (3) 22 (4) 30

75.

A circus tent is in the form of a circular cylinder surmounted by a cone. The diameter of
the cylinder is 8 meters. The height of the vertex of the cone from the ground is 15 meters
and the height of the cylinder is 12 meters. The area of the canvas required to cover the tent
is (in square meters)

ag DG Mhardo ?@ori)o:@ F05HQ D) ws o’ w68, fg?éo VEy @rgdDdw
8 Do, P H0& FoHd %’go BVog) 28y 15 Q. HoB 5w fgo*’ﬁao D& 12 . Sngo
Bo@rorR), D PO @ébdéoﬁog SRESJSIICS RS ) ST g0 (3..0s%)

(1) 144 = 2) 116 n 3) 9% n (4) 64n
76. The next term of the sequence 1, 3, 4, 8, 15, 27, is
1, 3, 4, 8, 15, 27, @ (EH0S° D SHI8 Dowg
(1) 37 (2) 44 (3) 50 (4) 55
77. Five girls are sitting on a bench for a photograph. Seema is to the left of Rani and to the

right of Bindu. Mary is to the right of Rani. Reeta is between Rani and Mary. Who is in
the middle of the photograph ?

(1) Rani (2) Mary (3) Reeta (4) Bindu

SISSIOSISS IO SO JeMEN FE 800 a8 @ Erd)TG. o°B8 ddD (DE)S, DHokos
HA (DELD Do 00, 0o A (HES Fod 0. ooB8 T8 Boggd e woo.
es® Eéoqﬁsef’ GI)O AD8?

(1) o°3 (2) 356 (3) ber (4) Dodo

78.

Fill in the blank :
o9 GYrdotod
CG:HL:: KO:
(1) QV (2) PT (3) RV (4) VT

In each of the Questions 79—84, pick the odd number out (does not match).
79-84 $8& (2% 08" B0 Dowpgd Hafowedw.

79. (1) 282 (2) 364 (3) 4168 (4) 6248
80. (1) 1285 (2) 2213 (3) 3074 4) 4172
81. (1) 1339 (2) 2665 (3) 3991 (4) 4223
82. (1) 11 (2) 246 3) 327 (4) 464
83. (1) 5 2) 12 3) 25 4) 36

84. (1) 81 (2) 441 (3) 529 (4) 613
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In each of the Questions 85 to 90, a sequence of numbers that follow a definite pattern
is given. Each question has a blank space. Fill it by the correct answer from the four
given options to complete the sequence without breaking the pattern.

85 2008 90 S8 Ko (B8 (BH)S*h adyd Dompgeo af o BoD VNI FEDRT° 0%,
(28 BH)S%%0 &) 9O el J0BIA8 Fodo Euhor adyd Tl PDYFY X0
$0TPS war o8 Lrootod. ‘

85. 5, 11, 28, 53, , 175, 296.

(1) 89 (2) 123 (3) 126 4) 152
86. 7,6, 11, 13, 15, 20, 19, 27, 23, :

(1) 27 (2) 34 (3) 36 4) 37
87. 4, 10, 18, 28, 40, , 70, 88.

(1) 36 (2) 44 (3) 54 4) 64
88. 21, , 55, 78, 105, 136.

(1) 36 ) 38 (3) 42 4) 45
89. 3,7, 13, 21, 31, , 57, 73.

(1) 39 (2) 43 (3) 49 4) 53
90. 24, 60, 120, 210, , 504, 720.

(1) 226 (2) 306 (3) 336 (4) 420

91.

In the Questions 91 to 95, the sequence of English alphabets and the corresponding
numbers 1 to 26, follow a certain pattern. Fill in the blank space in each question with
the correct answer from the four given options without breaking the pattern.

91 J00& 95 H8H aR)d @ar‘{l@é’s sof @Eorws 0w o 0o éos;g@o 1 So0& 26
REL, af [EX0 $Fod ANV rEXRT 00, (08 BH)S® @) ardR, wboERe Jc5dT8
Fordo Lodom, ad)d oo oD)Te X008 H0TRS aIe 28 Prootod.

If VEDA’s birthday is on 22-5-41, thén RAGA’s birthday is on

VEDA HgS & 22-5-41 wowe, RAGA HES e

(1) 17-1-71 (2) 18-11-51 (3) 18-1-71 (4) 19-1-61
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If AZEV : FUJQ, then BYFU :

AZEV : FUJQ wo»g, edyd BYFU : i
(1) GKTP (2) GTKP (3) GTPK 4) PTKG

93.

If AKBAR : 15, then ANWAR : .
AKBAR : 15 wond, wbypds ANWAR : .
(1) 11 2) 19 (3) 17 4) 21

94.

If ICET : 73, then HBDP : .
ICET : 73 wo»s, wdydo HBDP :
(1) 64 2) 34 (3) 48 (4) 54

9s.

If FACT : 54, then TAKE : .
FACT : 54 woxns, @Xb;}aéo TAKE : .
(1) 35 (2) 46 (3) 68 (4) 82

96.

In questions 96—100.

In a certain code of the word ‘SAINT”’ is coded as 82147 and the word ‘MONKEY’ as

364950. Write the code for the following words using the conditions given below :

(i) If any code ends with ‘0’ change ‘0’ to 9

(i) If no match is found use X

(i11) If the first digit is ‘0’ replace it by 1

(iv) If both the first and last digits are equal numbers, # 0 and # 2, then change the first
digit to 2

¥ 96 3008 100 S3.

o8 §&8° ‘SAINT’ o3 Hdo 82147 mdo, ‘MONKEY’ o3 %o 364950 b £°6

Do 33 §od add AdSwn wgrdom THE add dored §& [3°d50d ¢

(i) 2 8633 VI 0 0T, & 07D 9 m Hrdyod

(i) 0036 26 BEFE X 5°¢60d
(i) &S ©@0T 0 wond od FI0S° 1 dod

(iv) Bc5e3 H$o005» VB8 woBew, o sE 2 5% ST DI d0 wowd Qopged
®onBd, IGE @oB §°&DH 2m Srdyod

The code for the word INMATES is
INMATES o3 $do T3y, §&
(1) 1342578 (2) 1347258 (3) 1432758 (4) 1432578
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97. The code for the word YESTERDAY is
YESTERDAY o3 $do Bw§zr )

(1) 15875XX29 (2) 15875XX21  (3) 05875XX20  (4) 15857XX29

98. The code for the word STALKINGS is
STALKINGS o3 $do Eea§2r S

(1) 872X914X8 (2) 87X2914X8  (3) 272X914X8  (4) 272X194X8

99, The code for the word MONASTERY is
MONASTERY o3 %do Bw§zr §%&

(1) 3642875X9 (2) 36248750X  (3) 3642785X0  (4) 3642857X2

100. The code for the word ASTEROIDS is
ASTEROIDS o3 %o Ews’zr §&

(1) 1875X61X8 (2) 2875X61X8  (3) 3875X61X8  (4) 278X561X8

101. The correct sequence of states in which Bandipur, Manas and Pench Tiger Reserves are located
(1) Bihar, Assam, Maharashtra (2) Karnataka, Madhya Pradesh, Rajasthan
(3) Madhya Pradesh, Maharashtra, Tamil Nadu (4) Karnataka, Assam, Madhya Pradesh
0&YrS, Hrrd 2O DoV YO wPdSrdargodn EONMNY) Trargo DBIDY (B

(1) 58, oo, HoFtoRy (2) Eoro¥, HGg(HTF, oaPS

(3) HGg(HTF, HodPorRy, ST (4) Eoyo¥, oo, HggHTE

IS 2016 D 23 G



/D

102. Match the following

List-1 List-11

(a) Methane (i) Knock-knee syndrome
(b) Phosphates (i) Global warming

(c) Freons (iii) Bloom formation in lakes
(d) Fluorides (iv) Down syndrome

(v) Ozone depletion
&3 (800 T8 2SNEL0s

eI D11

(a) 0TS (i) 35-9 2o(&%

(b) Foyden (i) 68° & >80k

() (poroe (ii1) XDCSK)JQ@QS”S S00220 (bloom) Ddacécbo
(d) &TEes (iv) &S 2o(&&o

(V) &8 e
The correct answer is

DOOPHS DXoreedo

@ b (© @
(D Gv) @) (v) (i)
2) @) @) (v) @)
() (@) (i) (v)  (@{1v)
@ v G G @0

103. Read the following statements

(a) Acidrain is caused when sulphur dioxide (SO,) and nitrogen dioxide (NO,) in environment
reacts with water molecules in the air.

(b) The farthest atmospheric layer is thermosphere.

(¢) Western Himalayas are biodiversity ‘hotspots’.

(1) (a)is correct but (b) and (c) are wrong

(2) (a) and (c) are correct but (b) is wrong

(3) (b)and (c) are correct but (a) is wrong

(4) All (a), (b), (c) are correct

s (500 (Dot w@ggohdo Bo%od

(a) TedEn0S D ?o@@g B3 y6 (SO,) Ho8052 I &S 83 y6 (NO,) S
A8 woHost $Eg BohbIRE ‘e:szég Eég"@o’ Er80J°0%.

(b) wdgod Srdom wod oride Y 558&?\390535

(c) 9B)%> W drodiresr EDJISg HEXHE @0

(1) (a) 200303586 520 (b) H00dbw (€) DOID 57

(2) (a) Ho0Bw (€) D00PID 570 (b) VOIS sk

(3) (b) £9005» (c) V0TIV 52 (a) HOTNIS 2

(4) (a), (b), (c) ®) HOTHI
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104. Which one of the following is not correctly matched ?

(1) Vitamin B, — Beriberi (2) Vitamin B, — Pellagra

(3) Vitamin B, — Loss of appetite (4) Vitamin B, — Pernicious anaemia

St (300 2o’ b HOTIS 5°%

(1) oS B, — 23038 (2) dvwS B, — Do

(3) oS B, — ¢8O dodhowdo (4) dw0S B, — 012050 EET IS
105. What is the function of Plasma cells ?

(1) Antibodies formation (2) Storage of fats

(3) Storage of proteins (4) Vasodilation

FIy Eero IO A3 ?

(1) (d8 Igscolo bcﬁgdozﬁoéo (2) (EHgo Qog

3) L@*eﬁ:éoe dog 4) W@*@@KAS

106. Read the following statements concerning smoking and identify the wrong one
(1) Nicotine inhibits the functioning of adrenal gland
(2) Smoking causes emphysema
(3) Smoking increases ‘CO’ levels and reduces O, levels in the blood
(4) Adrenal medullary hormones increase the B.P. and heart beat

@ HheDH Do 0dow) & (8od (DdVTre STAT{eRRINe T2 DO A 800
(1) AAIS (Hos I Jerard) IE'ES J6°G100

(2) &rdeddo $o QoD H SENSRTSS

(3) >Herddo So SEod® ‘CO’ Hodrmo oA O, HOJr®mo S oo

(4) JBIS Sgi 8 Howr EE DI, HoBT FLET D) Wodosron

107. Read the following statements

(a) gf(aﬁbohydrates synthesized in the leaves are translocated to other parts of the plant through
ylem.

(b) Recombinant DNA is also known as chimaeric DNA.

(¢) Programmed cell death is known as ‘apoptosis’.

(1) (a)and (b) are correct (2) (b) and (c) are correct

(3) Only (a) correct (4) All(a), (b), (c) are correct

&8 (800 (Do w@ggahdo Erfevtlele

(2) HEred® LoFRIHTHg 58" ) - (Bdw gy, adld rrod o) Tgo FT0EE00
Boddozron

(b) HIsdoBrag DNA S 805 DNA ©d Sre wowrdd

(c) (Per®s Fom Serod SIFSE) ‘oPDETVDT wolrdd

(1) (a) 500050 (b) $0THY (2) (b) %0050 (€) HOTHHD
(3) (a) @B HOTHIS 4) (a), (b), (c) ©d) 20T
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108. Identify the statements from the following which are not correct ?
(a) Lactic acid is an antiseptic
(b) Chloramphenicol is an antibiotic
(¢) Sucrolase is an antimicrobial
(d) Analgin is a tranquiliser
(Bod &ES® HOTHY dmew 570 G HdoWod.

(a) or§§ edo a¥ oiroBRSE

(b) 560w IsE 2 dSrod Tr@s

(€) DETE a8 Bro8IE*D%S

(d) 93 a8 (Gro8g B=d

(D) (), (b), (d) (2) (a),(c), (d) (3) (@), (b), (c) 4 (b), (), (d)

109. Which one of the following is a polyester fibre ?
(1) Bakelite (2) Polystyrene (3) Nylon-6,6 (4) Terylene
(Bod &S rOTHE F%h 202

(1) BEBE (2) 065 (3) Bors-6.6 4) BoOS

110. The irritant red haze of the eyes in the traffic and congested places is due to
(1) Butane (2) Dust (3) Oxides of Nitrogen  (4) Methane

("8 wiEH0m &) 2O 2ddFo I D &) (88003 BBros é@:éo@ o0&k
®
QB 58 5800

(1) 35?‘35 (2) $® (3) 3= w3 Y6 (4) QDTS

111. Metal ion present in Vitamin B , is
Q&R BlzeS’S o S*H ©dsrd
(1) Fe* (2) Cr* (3) Co* 4) Mg*
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112. Match the following :

(a)
(b)
(©)
(d)

List-I List-11
Mercury thermometer (1) —200°Cto 1600 °C
Platinum Resistance thermometer (i1) —200 °C to 500 °C
Thermocouple thermometer (ii1) =200 °C to 1200 °C

Constant Volume Hydrogen gas thermometer (iv) =30 °Cto 350 °C

Bod o8I 2BDSL0b :

(a)
(b)
(c)
(d)

(1)
2)
)
4)

eI eIl

082 8 G (HE DIDHED0 (1) —200°C o0& 1600 °C $8%
FEID0 IE°FE SPHAS HTHED0 (i) —200 °C o0& 500 °C 588
R TSy Hn G NS SrHEn (ii1) — 200 °C o0& 1200 °C $8%
DE HodHOBrem (B el D0 (iv) —30°C $00& 350 °C S8

ERES SrbED®

(@ G (© @
G G Gv) (i)
() Gi) Gv) Q)
(i) Gv) G Q)
Gv) Gi) () (i)

113. Identify the correct statements

(a)
(b)

(©)

(d)
(1)

Sound waves and ultrasonic waves are longitudinal mechanical waves.

Sound waves are longitudinal mechanical waves and electromagnetic waves are transverse
mechanical waves.

Sound waves are longitudinal mechanical waves and ultrasonic waves are transverse
mechanical waves.

Electromagnetic waves are transverse waves.
(a), (b) only (2) (@), (b),(c)only (3) (a),(d)only  (4) (a)only

DTS JdBeaen ?ﬁagoiﬁoé

(a)
(b)

(c)

(d)
(1)

$gR0 Sdomor 0N W8EIY SSome @éo@ég o3ro (88 SSonro.

$8Q Sdomror wnBIg dBro(@F Edomwr HOMBn JLogdaloIryod EJomen
8855 05088 SSomes.

B8 Sdomo wNBIg dro(@8 Edomeo HNOWn 98 FII Edomen 8655
oSro (B8 oo, '

3)6595650‘5031’2)_0@5 SSomen @655 SZome..
(a), (b) émtéfaga (2) (a),(b),(c) éﬁ@ﬁf& 3) (a), (d) ESPLé?Sa 4) (a) éJ"Lé?aga
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114. What physical property of the following uses non-destructive evaluation experiment to image
defects in materials ?

(1) Sound (2) Heat (3) Electrical (4) Magnetic

& (300 @ F°BE o7y, (BHgEwed® Ko Srodn (HBD0H0T wdTHE Jeoher 87T
(DTITHH0S® s ?

(1) &g (2) &g d» (3) 5g& (4) eddbryod

115. Identify the correct statements
(a) Magnetic force does ‘no work’.
(b) Electrostatic charges generate magnetic field.
(c) Ifthe lines of magnetic force are parallel then magnetic field is uniform.
(d) Uniform magnetic field is conservative.
DTS VdTeven Hdobod

(a) ©drpod odn HITos

(b) % DSgorBEdne Hob wdhIpod F (Fdn &$38 el

() wddharpod o Tpeo VBTSS0S eddIp 0¥ §Lézéoo QEEBS® oo,
(d) 2868 wohdrpod F (Ed» Jdgse Db,

(1) (a), (c) 2) (@), (c), (d) 3) (@), (1), () @ (),

116. The Intellectual Property Appellate Board (IPAB) has ordered Chennai based ‘Geographical
Indication Registry (GIR)’ to issue ‘Geographical Indication’ tag for basmati rice, which is
applicable to 7 Indian states.

Which of the following is correct ?

(a) These seven states are in the Godavari river basin of India

(b) These seven states are in foothills of Himalayas

(c) These seven states are in North-East of India

(d) These seven states are in South India

(1) (a) only (2) (b) only (3) (a) and (d) (4) (a) and (c)

D& Ho o ISAESPRS) &9%33@65 aS{’é (IPAB) ez (05780 B3I )% Bodd 2Tr(dPEd
ao&é&gg 685383 (GIR) &0 Yoo“(g w08 DIBogoHH ZWr(HRES Q0B TAS el
%008 H0(Ed0 Fod. & do@d PESTIoS D 7 orar9of H8008

8od TESt 98 dwo

(a) & A% oar9en A orH0 DOFTTE (rodoS’ o

(b) & Qcko OPEr9Od IO rY oo Fod Fod)

(c) & Ak 9o PrESETIoS Y & S-&imdg0S® LoH

(d) & 2% orargen S8o rEETI0S® Son

(1) (a) S8 (2) (b) S-S0 (3) (a) H000%0 (d) (4) (a) L0805 (c)
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117. Old name of State Bank of India is

(1) British Bank of India (2) Imperial Bank of India

(3) Federal Bank of India (4) EastIndia Bank

RE w508 ©d R0BOIT YrdgH) B

(1) ©8% ergo§ @ k08T (2) =wo%BoHS ergof ©% zoddir
(3) &S wrgof ©h moddsr (4) &9 mo&asr errgol

118. NITI Ayog stands for

(1) National Institute for Technical Investigation

(2) National Income Transfer to Individuals

(3) National Institute for Transforming India

(4) National Intelligence Training Institute

NITI &T3h HIQ 20008

(1) QIS as Borgd $6 BEES asIRNHAS
(2) SEIS asES (P06 & 208VBrgH )

() LSS asyBergd $6 (&rS3)r0308 aoddsr
4) IhdS 200OBI) B9Noh adyBaergd

119. Nirmal Grama Puraskar is associated with which of the following ?
(1) Enlarging Forests (2) Expansion of Industries
(3) Rural Sanitation (4) Rural Electrification
Ay S (0PI Sd» (8od >8S° TI8 Yo 0HoVDS
(1) odHo 298x (2) Do AT
(3) (o FOHGg0 (4) (rdom dSgHESe

120. Which of the States is not BIMARU State ?

(1) Bihar (2) Madhya Pradesh (3) West Bengal (4) Rajasthan
(Bo& =8 BIMARU orh90 5200
(1) H5%86 (2) Dogg Bkl (3) DB BWorrd  (4) oreIdrd
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121. Who has won the 2016 William E. Colby Award for best military book ? What is the title
of the book ?

(1) Nisid Hazari —  Midnight Furies : The deadly legacy of India’s partition
(2) Logon Beirne —  Blood of tyrants

(3) Douglas Mastriano — A new Biography of the Hero of the Argonne

(4) Thomas McKenna —  Science and Technology in Military

ST RN Mdobd (fogosH aﬁg V000 7 5§98 ward 2016 HodSYTINIEH IH08
©HoV0d? & PHEo HT.

(1) $20& Grard — & 3§ Grgod : & BEO BAD B 80805 1A
(2) &°6°S BS) — & ©5 Blo&)y

(3) daed Eér?g?o‘éoﬁs — Qg aomlfﬁgc’p s & 98 uD & ©6AS

(4) D I, — ) vo& Bryoe ad Mowd

122. An irregular occurring and complex series of climate change is called

(1) ElNino (2) Hurricane (3) Tornadoes (4) Low pressure
D08 IDN, wdo %5@326 Ferd8e Hord o & (§od dFomr Dendd
(1) o2& S (2) 5038 (3) & &° (4) ooy DEID0

123. Which of the following is/are not correct ?
(a) First Five Year Plan — 1951-1956
(b) Third Five Year Plan — 1966-1971
(c) Sixth Five Year Plan — 1980-1985
(d) Tenth Five Year Plan — 2002-2007
Correct answer is
(1) (a)and (c) (2) (b)only (3) (c)only (4) (a)and (d)
&1 (800 5ot DB/ D2
(a) BosE HodHE (DerPse stodn — 1951-1956
(b) Hordd Do (Derds P — 1966-1971
() @8 HoIdd (Derds stodn — 1980-1985
(d) 585 oY (Der®s sPeH0 — 2002-2007
$TS Ddrrddn
(1) (a) 20005 (c) 2) (b) s (g (3) (c) dr(& (4) (a) &00» (d)
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(1) Union list (2) State list

124. Economic and Social planning is in

(3) Concurrent list (4) Residual powers
©08 H0) FHrEE (HerPs WS Q DS PoddITH
(1) So8 erder (2) oy =de

3) %éo&(% T (4) o339 owhs oo

125. What is the correct descending order of foodgrain producing states ?
(1) Uttar Pradesh, Punjab and Madhya Pradesh
(2) Uttar Pradesh, Madhya Pradesh and West Bengal
(3) Punjab, Uttar Pradesh and Telangana
(4) Madhya Pradesh, Punjab and West Bengal

PSS TH0S® eHty TGO H0B0BE0S® B (BLoS® (D 20&) HodoT e IS
$8ohod

(1) &85(5TE, Dowrd ©005% SoggdTS

Q) &85(6T5. HSgeTF $005 BT BBomS
(3) Doerd, ¢SS(HTEF H005» Boomrn

4) 2606‘55638-%, Hoerdd Hodsw» ‘SD%)QESJBO(Y"g

126. Which of the following Articles of the Constitution can not be suspended during the period of
National Emergency ?
(1) Art.32 (2) Art.21 (3) Art. 19 (4) Art. 15
B0 wBgHDY HBP8 DHoDD 500" 0PErgofos’d O ©ESH DobE Bohadd
QB
(1) &5 32 (2) =085 21 (3) »9&S 19 (4) 885 15
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127. Match the following

List—I List—II
(a) Rajoliband Diversion Scheme (i) Karimnagar
(b) Sriram Sagar Dam (i1)) Adilabad
(c) Lower Manair Dam (iii) Mahabubnagar
(d) Kadam Reservoir (iv) Nizamabad
2 S DT o0

AR | eIl
(a) oeefen o $09y0D) BPLo (1) %60%456
(b) Boco >H86 @& (i) owodorerd
(c) &°c%6 $36 wreo (ili) Ho& 7SS5HE
(d) $To d=z0°gasd (1v) Qedorerd

(a) (b) (c) (d)
(M O (i) @) (1v)
2 G Gy @) (i)
) Gv) (i) () )
(4 G Gv) (D) @

128.

Consider the following

(i) Right to Education Act makes education a Fundamental Right

(i) Right to Education Act was passed in the year 2009

(iii) Right to Education Act assured free and compulsory education to the children between
years 6-14

Which of the statements given above is/are correct ?

(1) (1) and (i1) (2) (i) and (ii1) (3) (i) and (ii1) (4) (1), (1) and (iii)

(Bod arsrgote HOROOWD®

() Qdarg &) Fho A8gd (FENE Ty (HESoV0d

(i) darg &y Fdo 2009 {ooée‘égdéw& B BrOoWeE

(iii) 6-14 K:o?éégcr’eé*’ 'Y DL0oLd8 &DE L0 WB» DCS?DOCS VB BIIOD AT°g
&y Qo (DEG0V0H

D 5god® 28/9D HTID

(1) (1) Hod0sn (ii) (2) (1) L0608 (iii)
(3) (1) Hod0sw (iil) (4) (1), (i1) Hodasw (iii)
129. Minimum duration of stay in India before applying for Indian citizenship is

(1) 3years (2) Syears (3) 6years (4) 7years
VTR0 PrEE PEDEc0 EBH SBP0y TAwwE H00& PrESTHS® VY DoHEYBLweo
AD20RV &oBITLo.

(1) 3 Jod&yore (2) 5 Jod&yoren (3) 6 VodSyoren (4) T DodEyorod
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130. Which state government has launched a scheme titled ‘Ashray’ to save girl child ? What is
the main aim of the scheme ?

(1) Uttar Pradesh
(2) Madhya Pradesh :
(3) Rajasthan

(4) Haryana

: Providing 200 crores to save girl child

Providing food and clothes to girl child

Government to place specially designed cradles in 65 state hospitals
for the safe abandoning of girl child

: The government to place specially designed cradles in all state

hospitals

‘Wi DQo D088 oW ) TrH9o I dh Wl DEEoD (HTIDFos. T (Heed

©Eg0 I ?
(1) «88 (635
(2) Hgg (2B
3) mes:C?TS

(4) Sorgd

ud Dol J§owb . 200 59l TeronoDod

U DOLH  Hod, eFPor) DHErIH Ko

¥ ool IELom GV DOEIE 65 (Dybdg oD (os®
(HBgEom D008 S oo D000

®) (P& e:aK:oXDLéo@eS‘s Lﬁaggéom V8 0% &3 esdoo :DU"QG&J

131. Arrange the four Buddhist Council meeting places in chronological order.

(a) Rajagriha
& (808 vdg GO TG

(a) ocmiyd
(1) (), (b), (c), (d)
(3) (), (c), (b), (a)

(b) Kundalavana  (c) Pataliputra (d) Vaishali
Doy DHrTIdoen 200 (HTIdvoD (¥ Dopgs® (Tokndn.
(b) Hodwddo (c) F0dYPE (d) 3%®

2) (), (), (c), (d)
(4) (@), (d), (), (b)

132. According to ‘Arthashastra’ the state is constituent of ‘Saptanga’. Identify the correct one.
(1) Svami, amatya, janapada, durga, kosha, danda and dharma
(2) Svami, janapada, durga, kosha, danda, mitra and kshatra
(3) Svami, amatya, janapada, durga, kosha, danda and mitra
(4) Svami, amatya, thataka, durga, kosha, danda and mitra
@gaﬂéjo (95°8%0 ‘Wago’ SIS oo & Gotood. & Bo& TS DO DOOHod
(1) Srgado, ©drdg, BIVE, Sod, §%%, Sod Lodsw $8y
(2) g, 2IDE, S, 8%, Sod (g Ho0Bw (Y
(3) g, wIrEg, wdDS, 4, §%%, S0 Ho00%0 (S
(4) g, wdrdg, Sary, $od, 8%, S0 Ho0050 Mo

133. Which one of the following texts was known as the Bible of Tamil land ?

(1) Tirukkural

(2) Silappadikaram (3) Naladiyar (4) Manimekalai

& (808 °AS° @ (HoFo S (o BOST HONB0E B 0b.

(1) &85 8S

(2) 3¥DH&s°8o (3) Hoddrd (4) $o8TopS
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134. Identify the wrong pair

(1) Aryabhatta — Aryabhatiya

(2) Brahmagupta — Kandakadyaka
(3) Varahamihira — Brihatsambhita

(4) Bhaskara — Panchasiddantika
&5 (300 aAS° DB HOTHD w5

(1) esgaféo — @652;563050

(2) ( Doy — Sodsedgs

(3) SETATOS% — )& &dowrd
(4) 20y 8 — éoﬁ?og"o@é

135. Which of the following statements is wrong ?
(1) The founder of Madyamika School of Mahayana Buddhism was Acharya Nagarjuna
(2) Yogachara School of Mahayana Buddhism was founded by Maitreyanatha

(3) Aryadeva and Buddhapalitha were the followers of Madyamika School of Mahayana
Buddhism

(4) Shantideva and Chandrakirti were the followers of Yogachara School of Mahayana
Buddhism

& (800 mégéwe@s B HOTPOH 57K

(1) wordg mododks Lo asrd TG BoE 50K 08> D¢ g i’og"oé J°0 (D asodN D0
F*DOoTH

2) @Léoﬁa Do B0FPAITD TG BB LI08 Wordwed ?ocg"oé FO(PT°00% FROT
3) e:scﬁg THck 005w oé@v@éocéa PROPSLTONIAIS) 23’“’?2633@3*’20 émqs?gébé ?ocgmé PO (DT AR0L0
00D WIE

(4) =~o& 82@6@3 Q0005 7;3o@5§_6° Q0TS z's“’%ﬁéaéééaaé"é’b B ?og’oéé e pfel{alarlovRvoobe
00N OWIE

136. Name the Delhi Sultan who called himself the ‘Shadow of God’.

(1) Balban (2) Alauddin Khilji

(3) Mohd. Bin Tughlaq (4) Firoz Shah Tughlaq
BT TH BT 9 THPHIY 3 Derd DS ?

(1) wroys (2) wgrsdS 9O

(3) o8 A3 SdE (4) 98 ar Lf§
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137. Assertion (A) : The arrival of North Indian Sufis into the Deccan in the 14" and 15™
centuries brought deep changes in the political and religious fabric.

Reason (R) : They came to justify Khilji and early Tughlaq invasions of the Deccan
Plateau.
Answer is :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

EBFSZ (A) @ 14 H0d%0 15 dor_dwod® g8 rdsTH Y FGedHer )8
(FroddndEH orddo Ho, S8 (Frod or80% $o8 Dhodne st
SPBS Srdoyes voFdodaron.

¥ (R) @ &% DELPrL 8 é’)@@ 500050 &0 &if§ Sodddr@oly drgad do
BneT vrh IrGodHeo & (@oerds HD)I 6. '

Ddrprdo

(1) (A) $8050 (R) dz=o (R), (A) £ 2000 258

(2) (A) 00050 (R) Todr Jzo 520 (R), (A) £ 2000 Qe s°¢h

(3) (A) d=o0 5 (R) Dy

(4) (A) 5y 5 (R) dzo

138. Assertion (A) : Alauddin Khilji prohibited the sale and use of liquor in Delhi.
Reason (R) : He wanted to uphold religious and moral standards of people.
Answer is :
(1) (A) and (R) are true. (R) is the correct explanation of (A)
(2) (A) and (R) are true. (R) is not the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) is false but (R) is true
eSS (A) 1 Hodgo (@) H005» @HsTod q%@ J80s® wo @QS 5)&2
A GoBlo.

83 (R) HINS [0 &@5 5)62 (Pzo TVE) IB8E H0WBw HoE (DI b0 263@
30533éa§ (D80T 0.
DIl 0

(1) (A) %8052 (R) dzo (A) £ (R) 98B0 286w

(2) (A) H00050 (R) Qo 520 (A) & (R) 500300 JH8er 50
(3) (A) dzo 5 (R) oy

(4) (A) 85y 520 (R) dzo
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139. Warren Hastings’ experiment of auctioning the right to collect revenue to the highest bidder is

almost similar to

(1) Poligar System of Vijayanagaras
(2) Iqgta System of Delhi Sultanate
(3) Jagir System of Mughals

(4) Izara System of Mughals

Frivod Too IV, vdghionr Jvo FES 0T D) Hrer DD WHFELe 9T TES
Ir%0f Dgrdin’ D DEnts FO &b,

(1) D2oddd ocero stoomd Vg Hg50

(2) @9 e steoTd asT AFEHHN

(3) Bosoe stwoxeE A égéfg’

(4) Dodene 5PeoIE YRO® JF°DHW

140. The Indian member in Viceroy Legislative Council who resigned in protest against Rowlatt Bills
in 1919

(1) Tej Bahadur Sapru (2) B.D. Sukul
(3) M.R. Jayakar (4) GS. Kaparde

1919 26025@5360(’55 T o8& Do ég@ééom Brow FTHI0EO od Trdard BRI
EBoH Behgd 5?2

(1) 38 %676 by (2) BD. &

(3) MR. 20555 4) GS. =63

141. ‘Jorwe’ culture belongs to
(1) Chalcolithic phase (2) Megalithic phase
(3) Mesolithic phase (4) Ironage
TG D00 )8 € STeodH TohI

(1) e (o3~ dswio (2) Y& &Bw dSwifo
(3) Hogg 0" csnio (4) a%bs®s> oSwro
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142. Match the following

List-I List-1I

(a) Bagor (i) Rajasthan
(b) Langhnaj (i) Gujarat
(c) Bhimbetka (iii)) Madhya Pradesh
(d) Sarai Nahar Rai (iv) Uttar Pradesh
&5 (800 A0 BEDHBHTHW

eI ede—I1
(a) &°6 (i) ore o S
(b) ®ohod (i) Koz
(c) S (iii) Sogsg (9TH
(d) doron SG°E6 ordd (iv) &8 (9TF

@ b (© @
(H @ G 3G @Gv)
2 @ Gv) (@) ()
(G) @) @ (v (D)
(4 Gv) @) @) @)

143. Which of the following statements is not correct about the Rigveda ?
(1) Rigveda mentions Varna

(2) Slavery was not mentioned in Rigveda

(3) Sabha the assembly was mentioned in Rigveda

(4) Rajan occurs many times in Rigveda

HTZBINIEH D0 060D G (800 TS @ (HBIED Dy DEYH &od :
(1) "$5gL0" %000 STgSH0 w600

(2) wrBSH0’ H00D HTISHD DEYIT

(3) DY %00 SHTgEIH WE0s

(4) ‘orad’ o HEHNG SHBgEHn Tor Horgdhdnes D700

144. Which animal figure is not found on the so called ‘Pashupati’ seal discovered at Mohenjodaro ?

(1) Elephant (2) Lion (3) Tiger (4) Rhino
S0t S8t St S0 )BD HHHE Hoo(B W Q oD 700y BEY $BL?
(1) Qboctd (2) 2oHedw

3) O (4) gDoyHodm
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145. Match the following

List-1

(a) Kosala

(b) Licchavi

(c) Vatsa

(d) Matsya

& (800 AL BEHBHW
a1

(a) §*%eo

(b) &< 1_)Z)

() &)

(d) So8yg
@ ® (@© @

(H Gv) @ (@) (i)
2) @) G Q) @)
G) @ @) () (@{v)
4) () Gv) (@ (i)

/D

List-11
(1) Vaishali
(i1)) Kausambi
(iii) Viratanagara
(iv) Sravasti

e~-11
(i) 379
(i) 5°=~0d
(1i1) Qor S ESn
(iv) (m5%

146. Read the following

A member of a House belonging to any political party shall be disqualified from being a Member

of House.

(a) Ifheis expelled from the party.

(b) If he has voluntarily given up his membership of such political party.

(c) Ifhe votes or abstains from voting against the whip of the political party to which he belongs.

Which of the above statements is/are correct ?

(1) (a)and (b)
(3) (a), (b)and (c)
[Bod (HHBSImen SEado

(2) (b)and (c)
(4) (a)only

0.8 o8 osd @*’é% BoBI 300 Dghgdo (8od é@?géo@é’s E3 T3 DYPgegd8 el

) T°e.

(@) 85 FQ H0d R DHTID P&

(b) S5 3D vg¥yoLomr HSO DEFID P

(c) &5 F§ 28BS IDH Hg8TLomr 1S JPS® 4w IDIdypd Boo Ggrad

©00ID Pk
D (DI SISd00s® A6/2D Jeo?
(1) (a) $080%» (b)
(3) (a), (b) HS00030 (c)

2) (b) $:605 (c)
4) (a) dr-EDo
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147. Assertion (A) : The Parliament is empowered to alter the boundaries of any existing State of India.

Reason (R) : Abill pertaining to the alteration of the boundaries of any State can be introduced
only in Rajya Sabha.

Answer :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct and (R) is not correct

(4) (A) is not correct and (R) is correct

BBFES (A) @ TH0S® &8S® Ho @ 0709 VOTOTT $T) WS o FIR0EH
feods.

e

e (R) @ ooh9 20 God STy Dol Bdeo orag VFS'T (DT DB T,
DIl 0
(1) (A) %8052 (R) @ Bodo Jdzzo 20050 (A) 8 (R) H8 B e

(2) (A) 200050 (R) @0 Bodor Do 570 (A) 8 (R) H0THS Dd8en s°¢%
(3) (A) d=zo (R) oy
4) (A) &5y (R) deo

148. Read the following
(a) The provision of All India Services are explicitly stated in the Constitution of India.
(b) The provision of National Development Council is not stated in the Constitution of India.
(¢c) Stamp Duty is levied by the Union, but collected and appropriated by the States.
The correct answer is
(1) (a) and (c) are correct but (b) is wrong
(2) (a), (b) and (c) are correct
(3) (a) and (c) are wrong but (b) is correct
(4) (a)and (b) are correct but (c) is wrong

808 [HSTroBy Hkhn

(a) ©o 8 Voo I ogden grdd crergodod® D gom B8y TS

(b) w@oﬁw@ég@ $080 (DS dE orergofod® B

() Fro® C§J°§é§§) Bo(do D§PR08, SIS ISPIESAIVINIRVECRS N THoE Dﬁ)ﬁwﬁoﬁoé’sézﬁoa
ISHSESIE-TL

(1) (a) 20052 (¢) dz=o 57 (b) Sy

(2) (a), (b) L0805 (c) @ dezo

(3) (a) H50B» (¢) @ By s (b) ady

(4) (a) 20052 (b) @ 2By 570 (¢) DYy

149. Conventional energy source is

(a) Solar energy (b) Wind power (c) Bio-gas (d) Nuclear power
PO(DTPAN 0G0 DIBE emrddn

(a) dordg 3§ (b) 255 %8 () Br-mrgd (d) weo %8

(1 (a) (2) (b) (3) (o) 4 (d
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150. Who among the following Presidents of India was associated with the Trade Union Movement in

India ?
(1) V.V.Giri (2) N. Sanjeeva Reddy
(3) Zakir Hussain (4) R. Venkatraman

T8 R 9HHOS" 570 8 Bigired Ho ofo od
1) 2.9. 806 (2) 35. vods BE
(3) =G T3S (4) 6. To¥vordod

151. The following states share border with Uttar Pradesh
(a) Punjab (b) Rajasthan (c) Chattisgarh (d) Jharkhand
Correct answer is
(1) (), (b), (c) and (d) (2) (b), (c)and (d)
(3) (a)and(d) (4) (a)and (c)
(Bod TS* &88 (HTFE DO Ko orargen DD 2
(a) Doexrd (b) U"&:g’c% (c) z,ﬁé’}%ﬁpog (d) &Tgoﬁ
DTS Jddrgrdo

(1) (a), (b), (c) %2005 (d) 2) (b), (c) %2005 (d)
(3) (a) %2005 (d) (4) (a) %2005 (c)

152. The state having largest area of forest cover in India is
(1) Madhya Pradesh (2) Assam
(3) Arunachal Pradesh (4) Haryana
PESTHoS® ©dgns DJYo wdHe Ko o°h9o

(1) Sogg (535 (2) eryo
(3) w&er3S (HTF 4) o
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153. Match the following

List—I List—II
(States) (Boundaries)
(a) Tamil Nadu (i) Maharashtra, Karnataka, Odisha and AP
(b) Tripura (i1) Pakistan, M.P., J] & K, Haryana & Rajasthan
(c) Punjab (i11) Bangladesh, Mizoram
(d) Telangana (iv) Kerala and Karnataka
2B DSaWadN
eI eIl
(o°r9e2) (S8FGowa)
(a) SlFords (1) HoHPorhg, Eor vl @), wo(§ (HTF
(b) (8D (i) 8IS, Hodsg (535, wdory wok S"”%&S, Grorgd Hodadn U"%@@"’S
(c) Hoerd (ili) orBF, w0

(d) Bworre (iv) S8 H00a0 Lo w¥
The correct answer is
$BD DIFEDHDH0
(a) (b) () (d)
(1 Gv) i) () (1)
2 @ (i) @) (v)
(3) (@Gv) (i) (1) (i1)
@ @ (i)  (v) (i)

154. Read the following
(a) Tropical forests are found in Andaman and Nicobar Islands
(b) Monsoon forests are found in Shiwalik Hills and Chotanagpur plateau
(c) Hill forests are found in Southern India and Himalayan region
(d) Tidal forests are found in Central India
Bod (DIWSDne o dw
(a) &% $080 WEHL WodIrS H0B» Wb dHos® EIJow
(b) Sorsrod wdHes 3aeOF §Toden 000n SPer YRS DEPrd (@Podod® EDyJon
() S8 r8STFo Hdbw P Irech (Fozrod® DEIE (l0E @EHOIT*) oW
(d) e 88D wdHeo Hogg ST savyow
Which of the above is wrong answer ?
= Lﬁac‘éiﬁéém@& NI ED
(1) (@ 2) () 3) © 4) (@
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155. Assertion (A) : A rapid growth in population has been recorded in census since 1921.
Reason (R) : India’s death rates declined gradually since 1921.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true

BBFES (A) 1 1921 marer TE) o EEm 008 rESTHoS” @8 R(Pood worys
égcg NISSLISRIAR
% (R) 1 1921 Jod8 80 SShard erddTF0d® Dodeare Téw (doom EHo0d.

DTS Ddrerddn

(1) (A) %8052 (R) @ Bod Jdeo H005» (A) 8 (R) H08 308 DT
(2) (A) 00050 (R) @0 Bodo dezo 570 (A) 8 (R) 000D dd8es s°¢%
(3) (A) d=o (R) &by

4) (A) &5y (R) Qo

156. Which of the following regions is first affected by the south-west monsoon ?

(1) Kerala coast (2) Coromandel coast
(3) Himachal Pradesh (4) Bihar

SHB  0HDIT O DL ) ST°RY/(FoTe) BTS00 ?

(1) 26 8o (2) §*8H08S 880
(3) WrIrSS (HTF 4) 5556

157. Assertion (A) : West flowing rivers of peninsular India have no deltas.
Reason (R) : These rivers do not carry any alluvial sediments.
Correct answer is :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
PSS (A) : ¥ ésé§©aoe§”§ DEBE BY (DIW0B IBedH Byre D).
8odn (R) @1 & o Jorod 2o(d olFarodn JrdnBED).
ISHESIIRSRSSAI APPSR
(1) (A) £8050 (R) Bodo dzzo 08050 (A) 8 (R) 00008 d58e
(2) (A) 0050 (R) Todko Do 520 (A) 8 (R) $00205 Dd8en 52
(3) (A) dz=o 52 (R) $dy
(4) (A) 85y 570 (R) dzo
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158. Match the following

List-1 List-11
(a) Banihal pass (1) Jammu & Kashmir
(b) Rohtang pass (i1)) Himachal Pradesh
(c) Niti pass (ii1) Uttarakhand
(d) Nathu La pass (iv) Sikkim
& 1808 oI wSHEHWok®
eI eIl
(a) Jd5S >D () =0y & 9%’&8
(b) &G B0h FD (i) WIS (HTF
() JAd D (iii) sSorpob
(d) 3o 0 (iv) 280

Correct answer is
2BS ddrgedo

@@ b (© (@
(I Gv) (i) @) 1)
2 @ @) () (@)
(3) @Gv) (@) @@ (1)
@ (@ G (@Gv) (i)

159. Assertion (A) : Major Industrial regions of India have developed in the immediate hinterland
ports of Kolkata, Mumbai and Chennai.

Reason (R) : The ports provide access to the raw materials available in the hinterlands of
these ports as well as to the world markets.

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

B8>S (A) 1 r8STHS ) 5°SEme, dwoBow HdIW B3 & THOH e &)
PRE (rozros’ @“6@?3)% @"O@’@o e ©)DH)HTowon.
s8edn (R) @ € 4d THoo E¥H PRE (Froerod” 0oBd Hwd dEHod oL 8

50050 (Do HrT)Fod VI8 wloHm &I°)ow.
(1) (A) $08052 (R) @ Bod Jdzo £o005» (A) 8 (R) H8 B e

(2) (A) 200050 (R) @0 Bodor Do 570 (A) 8 (R) H00HS Dd8es s°¢%
(3) (A) dzo 5 (R) oy
(4) (A) 5y 57 (R) dezo
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160. Match the following

List—I List—II
(a) Manganese (i) Madhya Pradesh
(b) Nickel (i1)) Odisha
(¢) Lead-zinc (iii) Rajasthan
(d) Asbestos (iv) Telangana
238D B0BHd0
eI eIl
(a) Srordbo (i) $ogg (285
(b) I35 (i) 28
() %dn-z2o8 (i) o= S
(d) s T (iv) Boome

@ (b  (© @
(@ Gy ) (@v)
(2)  Gv) (i) (i) (1)
3 (i) (i) (iv)
4 Gv) ) @) ()

161. Which one of the following is/are primary economic activity/activities ?

(a) Transport (b) Communications (c) Mining (d) Farming
Correct answer is
(1) (c)and (d) (2) (b), (c)and (d)
(3) (b)and(c) (4) (a)only
Bod IS Q& ErDS (&0 e:sgé sedgSoraro 8688 Bod&oh?
(a) Sore (b) s’&éwgaéﬁléo (c) Koo (BB5g¥o0 (d) SgHJI=as20
DTS Vdrgrdo
(1) (c) So8030 (d) (2) (b), (c) 20050 (d)
(3) (b) 00052 (c) 4) (a) dr-EDo
162. Which of the following are the chief sources of hard wood timber ?
(a) Broad leaved evergreen forests (b) Broad leaved deciduous forests
(c) Evergreen coniferous forests (d) Needle leaf deciduous forests
Answer is
(1) (a)and (c) (2) (a), (b) and (c)
(3) (a)and (b) (4) (a), (b), (c) and (d)

(Bod aJS° T o0& (dprdom HE Lod oo ?

() VEory8 sHeon Ho VEST0E v

(b) Vdory8 sHen Ko @S’ovéa @&

() VSE8H08 FyomrsedYy wdHoo

(d) 500 3o s5°8Y sHor fo wHoD ) wdHeo

ISHSESIE-TL

(1) (a) H0080%2 (c) (2) (a), (b) 20030 (c)

(3) (a) H000%0 (b) (4) (a), (b), (c) H0005x0 (d)
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163. Consider the following crops

(a) Cotton (b) Groundnut (¢) Rice (d) Wheat
Which of the above are Kharif crops ?
(1) (a)and (b) (2) (b)and (c)
(3) (), (b) and (c) (4) (b), (c)and (d)
(Bod Hobvods HdBO0WBN
(a) o8 (b) ITSoES548 (c) dosego (d) A*csodoen
2 8S® 2 9869 Howed
(1) (a) H0060%2 (b) (2) (b) L0060%» (c)
(3) (a), (b) L0005 (c) (4) (b), (c) S08030 (d)
164. Which one of the following shipyards makes warships for Indian Navy ?
(1) Vishakhapatnam shipyard (2) Kochin shipyard
(3) Mazagaon shipyard (4) Paradeep shipyard
P88 TEeed8 5ard)d dng o $ard T IsFoho
(1) darpdon Iso(Foko (2) §VYS Is°(¥%0
(3) Sommrs I°se(¥0s0 (4) >ELED Is°Fo%0
165. Who among the following tribes live in the Union Territory of Andaman and Nicobar Islands ?
(1) Apatani (2) Munda (3) Santhal (4) Jarawa
(Bo& BBIYD O Sew Bo(@ ;O (FoSHd @odHrS-I8° Fod® JH0T %2
(1) oda° (2) Hoo0dk 3) Dosgd (4) =oeoe

166. Which of the following is not an objective of Swachha Bharat Mission ?

(1) Hygiene (2) Waste management (3) Sanitation (4) Beautification
(8od 8S® b gy P88 WES ©Fgo 5
(D @6’855 ) 2) $g¢ g e 3) Fo%do (4) %o088800%d0

167. Read the following statements
(a) Infant mortality means the death of a child less than one year of age.
(b) lljnlfteglt mortality is the number of deaths of children under one year of age per 1000 live
irths.

(¢c) Poverty of the family is the only factor, that contributes to infant mortality.

Which of the above statements is/are correct ?

(1) (a)and(c) (2) (b)and (c) (3) (a)and (b) (4) (a), (b)and (c)
(B0 (HdSdPwe0 BEHE®

(a) B% Solewror wdmr vodE o YrostHoars 3HY wdBotdo

(b) 1000 zdsrods® foozéégdoeﬁg@ ST oS PYo Dowg wprdonr 3H odero Dopgdd
SV[CRCRRESjgeN)

() %oo “aE080 &) T 3H Hdwredh s°Emo

D (DB SId00s® D6/2D Jeo?

(1) (a) 298030 (¢) (2) (b) 08030 (¢)

(3) (a) 08032 (b) (4) (a), (b) H2803%» (c)
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168. Match the following

List-I List-1T
(a) Golden Fibre Revolution i) Fertilizer
b) Gray Revolution i1) Onion
¢) Pink Revolution ii1) Petroleum products
(d) Black Revolution iv) Jute production
2 EDSWBH0
Eabko | eIl
(a) omdy D SESPIG) (1) AodHeo
(b) &S Joi dvdo (i) &Qarcdoen
(c) %owrd Sod Qo (iii) oaLeS”sé)oﬁoo ERRT PN
(d) Seod) d9do (iv) % &858
TELY
i il il v
222 (v) (i) giig Eiii)
(3) (i) (v) (i) (D)
(4) (v) @) (@) @)
169. Match the following
List-I List-IT
(a) Zamindari system (1) William Bentinck
(b) Drain of wealth i1) Thomas Munro
(c) Mahalwari system ii1) Lord Cornwallis
(d) Rythwari system iv) Dadabhai Naoroji
2SDSBD0
eI eIl
(a) 2oad Dgrddm (1) IO Boe3s
(b) (dardrom Fdo FPHEo (i) %0 H&
(c) Soordaed DE8 (iil) or§ 526 O

(d)

(iv) ororgron 3°6°

Be°gd @CS&’B

@ O © @
(1) @) @Gv) (1) (1)
(2) (1) (‘1_1‘) (1i1) (1y)
(3) (i) (u) (i) (i)
4) @) (@v) (@) (@)

170.

Consider the following statements about key features of ‘100 Smart City’ project
(a) Automatic traffic signals

(b) Better public transport facility

(c) Face identification system to catch criminals
Wthh of the above statements is/are correct ?
(1) (a)on

3) (a) an(f, (b) only

(Bod (HISdd0en HOBOoLILID
100 wodFod oo’ (FRE Sweg o mron

(a) ©gosoo IO (&rHE Jado(Be FOA Godwo

(b) &SH50R0d Léwdmea (%"’S’U"Soaoc‘ééao

(¢) 56@3@260 %003 Do 00D HgHHBo EOA sodwo
2 L@Zézﬁsééoooef‘; L6/ Jzo?

(2) (a), (b) and (c)
(4) (b)and (c) only

(1) (a) J (B
(3) (a) H00052 (b) B (&0

2) (a), (b) %2005 (c)
(4) (b) %005 (c) Sm($Fo
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(a) The first hour of every parliament day is reserved for questions

171. Read the following statements

(b) Zero hour is a typical Indian innovation in the field of parliamentary practice
(¢) Judicial control over administrative acts stem from natural law

The correct answer is/are

(1) (a)is correct, (b) and (c) are wrong

(2) All(a), (b) and (c) are correct

(3) All(a), (b) and (c) are wrong

(4) (a)and (c) are wrong and (b) is correct

(Bod (HDHWSLwed Wekheydo

(a) (98 & FER00d B How Ddoo @%sléds’)wm 5% Berowod &od
(b) >ERo0wd Fodrrdreos® grEsTY Jogn e )dn Hrdg dob’ (£6° ©db)
(€) 5°8gREgErE HSgom I°gay AT%0(Ee DIrw I°g050 0ok HVHI
ISHSESIRSESSLIARINPIRY

(1) (a) dzo 522 (b) H2065» (¢) @0 SHy

(2) (a), (b) H280%x (c) @ &953“ Qe20

(3) (a), (b) H280%x (c) @ @‘f)l EDYy

(4) (a) H0052 (c) @ Dy H0ds» (b) dzo

172. Supreme Court of India enjoys the power of ‘Judicial Review’, which means the power to
(a) Review the judgements of State High Courts
(b) Review the functioning of the Council of Ministers
(c) Advise the President of India
(d) Decide the constitutionality of an Act passed by the legislature and order of the executive
Correct answer is
(1) (a)and (b) (2) (b)and(c) (3) (d)only (4) (c)and(d)
8 Do(0 §°F ‘Trgok BwE @850 DN $od. ok DWE e

(a) o°R9 JrEGe 88 yod DA oddo

(b) $90(8%008O VoD D oFEo

(€) 2788 0P 9D88 VoHt adgdo

(d) =03 79 &BrooWS Igren, 5°EZAT YT E T ST orezegod cgpﬁézéo Vgonotad
ISNSESERCRTRLIALPVRILY

(1) (a) S08030 (b) (2) (b) H28030 (c) (3) (d) Sor(EFo (4) (c) 00035 (d)
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173. Which of the following pairs is correctly matched ?

(a) ADM Jabalpur Case :  Rights of Citizens under Emergency
(b) Vishaka Case : Centre State Relations

(¢) Indira Sawhney Case :  Rights of Women at work

(d) Kartar Singh Case  :  Rights of Minorities

(Bod S DT wd 8?2

(@) 2.8.08. = SEHrd e g D D odgddd Xaa?é:@ DHoVS dooos® Y ¥y o0
(b) dap aregdn . Bo(& o°g9 Do ogren

(c) mobo BHEI Trwgdm DB (TH0S® Koo TrEnp e

(d) Zo28 voh armgdn D Boarddo [SACSPASS

Correct answer is
$BS Ddrerddn
(1 (@ (2) (b 3) (© 4 (d)

174. Consider the following statements

(a) The First National Commission for Scheduled Castes and Scheduled Tribes was constituted
in the year 1992

(b) First National Commission for Scheduled Castes and Scheduled Tribes was constituted
under 65" Constitutional Amendment Act

(¢) C.H. Hanumanthappa was the chairman of the First National Commission for Scheduled
Castes and Scheduled Tribes

Which of the statements given above are correct ?

(1) (a)and (b) (2) (b)and (c) (3) (a)and(c) (4) (), (b) and (c)
Bod (HdSdP0o HBLDoWD®

(a) DS &% NErgS Horod H00in RErgS Bifo %S 1992 fooeéégdéoaé%
Doy B God

(b) 65% orergod VIS argoe Bl & 0% RErgS Horo HodbN wdrgS Bio
EH S DU"Q@J D% &od

(€) er@0% drgd Horo HOWMH WErgd BHeo LHUS IndE BES . TS

[SARSSENICT: R0
D DS (DI SIB00S® 20 HTIO
(1) (a) $206050 (b) (2) (b) L00605» (c)
(3) (a) $00605» (c) (4) (a), (b) $0805» (c)
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Proclamation of ‘State Emergency’ under Art. 356 can continue beyond one year if

175. Consider the following statements

(a) The High Court of the State certifies that the situation in the State is very serious.
(b) The Governor of the State certifies that law and order situation is not under control.
(c¢) The Election Commission certifies that it is difficult to hold elections to the Assembly.

(d) The President is satisfied about the grave situation in the State through independent
investigation.

Which of the above statements is/are correct ?

(1) (a)only (2) (b)and (c) (3) (c)only (4) (a)and(d)

(Bod (HHWDH0en HBRDoWL®

‘@955 356° (D580 ¥ o%&goé*’ @9«5526706 Ka@?g@éb 2.8 DodE G0 wo) SdJAoTo0E

(a) & o°R90S® DD H0P ST © °hY 8% D00 uH D

(b) 008 908" 08 P SBeo wHPS® TH (986 DgrdowWH BHo

(c) & U%&joé”s @ﬁ@oé;’) d)Eo0 AEZWr0LE0 P HD DV EO D00 Vge00WHTI

(d) dgEo& HOF° eSS rgo” B8, @@90@5’3 @Léﬁ)@?géa@o ?é@ﬁﬁoéos"ioﬁoi) oCR9IDY
D0&ND BodHBH

D (DIBIB00S® B/ Jeo?

(1) (a) S8 (2) (b) 08030 (¢)

(3) (c) d-(&o (4) (a) $280%» (d)

176. Which of the following is not correctly matched ?
(1) Lambadi Hakkula Porata Samithi — Bellaiah Naik
(2) Gouda Jana Hakkula Porata Samithi — Elkakatte Vijayakumar Goud
(3) Vaddera Hakkula Porata Samithi — Dubbagatla Narsing Rao
(4) Chakali Hakkula Porata Samithi — Poosapally Saidulu
& (808 IS A& VOTPS =wE 57
(1) voerd SEHHo ord D& — Boddyg 7058
(2) T8 25 THye FPord DN — JoEF ducHdrd 776
(3) $BE THpo Ford DB — S e S8yodorD)
(4) o8O S0 Ford VN — PYrovd doen
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177. Match the following

(a)
(b)
(©)
(d)

List-1
9t month of Islamic calendar
Moharram

10th day of 12th month of Islamic calendar

Milad-un-Nabi

Ss (808 FrE wSEDHSWD0

(2)
(b)
(c)

(d)

(1)
2)
)
(4)

A |

a§'°§)o§ ?56065 6"3)0&6325 I

S (8o

aI* 0§ S°§ B0k & DTo&D
S HSS &

Dord &S I

@ @® (@ (@

i) (@D  av) (i)
(i)  (@{v) (i) (1)

1  (@[v) (@) (i)

(v) (@) (@) (i)

List-11

(i) Prophet Mohmmad’s birthday

(i) Bakrid
(ii1)) Ramjan
(iv) Shiyas

eIl
(1) B8 (vD8 =5y830
(i) (88

(iii) SoeS

(iv) 2osreo

178.

Match the following

(a)
(b)
(c)
(d)

List-1
Mannemkonda Jatara
Durajpally Jatara
Siddulagutta Jatara
Singaraya Jatara

Ss (808 &8 2SEDHBTWID0

(a)
(b)
(c)
(d)

(1)
2)
)
(4)

et ALzl |
éoﬁ;oé"’océ Al el
S$ooeEDY rEY
Doy wrsd
FSYeYeforto vl A1 Yol

@ b (© (@
(i) (i) (G (@v)
(i) @Gv) () @)
(v) (i) Gi) ()
i) () (v) (i)

List-11
(i) Laxmi Narasihma Swamy
(i) Siddeshwara Swamy
(ii) Anjaneya Swamy
(iv) Lingamanthula Swamy

a1l
(1) @ﬁ& STCRSICRSLESA{SIN
(ii) ?o?é%sd@*sé’)o
(iii) @o=TasIrgdd
(iv) ©oifdoodoroIga
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179.

Match the following

List-1
(a) Ramlingeshwara Temple
(b) Erakeshwara Temple
(c) Sita Ramaswamy Temple
(d) Venugopalaswamy Temple
& 1808 T 2SEHLEH0

AR |
(a) wéo@oﬁ"ésd Y© 0500
(b) Qdér‘ésd @© 030
(c) %0@'”?2603"530 W os00
(d) S’ roIgd sodio

@ @® © (@
(H Gv) @G (@) (i)
2 @) @®H G @Gv)
G) Gv) @) @) ()
4 @ @) G (@Gv)

List-I1
(1) Dichipalli
(i) Kondaparthi
(ii1) Pillalamarri
(iv) Nandikandi

erde-I1
(i) &0Hd
(ii) §o&®o
(i) o0
(iv) Sobg0d

180.

Match the following
List-I
(a) Dimsa
(b) Adrak ke Punje
(c) Perini Dance
(d) Pittala Dora
&5 (800 A0 wEDHBTHW
e -1
(a) oo
(b) » &8 B bo=
() 08 @)y
(d) 2o &3
@@ b (© (@
(H @ @ 3> (1)
2 @O a) (3> (v)
(3) @) @ () (@{v)
4 @v) (@) @ (1)

List-11
(i) Babban Khan
(i1) Gonds
(ii1) Fastest dance form

(iv) Budiga Jangalu

D11

(1) NS

(i) APoddoed

(iii) SEL0EZos SySgshn
(iv) o2& =omren
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181. Match the following

List-1 List-IT
(a) Goreti Venkanna (i) Ayyoniva Nuvu Avvoniva
(b) Nandini Sidha Reddy (1) Amma Telanganama.....
(c) Guda Anjaiah (ii1) Palle Kanneeru Pedu Thondhi
(d) Gummadi Vittal Rao (iv) “Nageti Sallalo Na Telangana.....”
&8 (800 @I w2SBDNCoodw
eI erde-I1
(a) A°TE Jogdy () oTrgds dodHg os*gdd
(b) J0bQ Do TA (i) ol Svomrnddr,..
(¢) dord eomalyg (iii) &8 éb;&o %808
(d) #5038 DS oo (iv) “=ne 3105@@”3 > Boomrs...
@ ® @© @
(H @O aGv) @) (i)
(2) Gi) @Gv) (@@ (D)

3)
(4)

vy (@ () (i)
(i) i) (G (@Qv)

182. Arrange the following statements in a chronological order

(a)
(b)
(©)
(d)

Declaration of K.Chandrashekar Rao Fast unto death.
Telangana March to Necklace Road.
Prof. M. Kodand Ram was nominated as convenor for Joint Action Committee (JAC).

Suspension of Telugu Desham Party from Joint Action Committee.

Ss (808 78 (droieon @éaé})oc%

(a)
(b)
(c)
(d)
(1)

)

3. Fo(BFE ord) wHbn IETERE (HELD

3ES &°6 D8 Bwomrm 370

(& §Sodoro eronod wES Ed (JAC) E9g38m JosrdogHdn
20008 wES EME $08 Boodd THo ;g wrh e

(a), (d), (b), (¢) (2) (@), (c), (b), (d)

(b), (a), (d), (c) 4 (a), (c), (d), (b)
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183. Match the following

(2)

(b)
(©)
(d)

List-I
My Telugu Roots : Telangana
State demand — A Bhasmasura wish
Battleground of Telangana
The fall and rise of Telangana
Telangana—United Andhra Illusions

Ss (800 TG wSEDHSWDw

(a)

(b)
(c)
(d)

(1)
2)
)
4)

ko |
30 By $rdy @ Svomrs &
BIT0&-2 FIyHE IR
wgé?é_ [0l oo Swome
& S vwob T «p Swomrn
Boomn-05NIBE wo(d aowgel)
(@ (b () ()
@iv) (@) (1) (i)
@ G i) (i)
i) (@[v) (@) (i)
@av) (i) Gi) (1)

List-11
(i) Nalamotu Chakravarthy

(i1)) Gautham Pingali
(ii1)) Venugopal
(iv) Kingshuk Nag

D11
() So3rd I EH0

(i) Ao Dor®
(iii) Seod*rS
(iv) 80A%0E oA

184. Which one of the statements is not correct ?

(1)
2)

)
4)

Article 371-‘D’ facilitated for the Zonal system in Andhra Pradesh.

Jayabharat Reddy Committee was appointed in 1984 to enquire into the irregularities under

the six point formula and Presidential order.

Kamalanathan and Umapathi Rao were the members in the officers committee.

Abdul Khadar, a senior [.A.S. officer was appointed in 1985 to scruitinize the officers

committee report.

& (800 TEgined® 2B DOTHIO &
(1) @085 371 & (95780 wo(§ (HTFS® &3S HgHY QO Y&0 @00

)

3)
(4)

e drere DEEo Hodadn CPXmlea@ & E B0 GLYOPII Jwrdes TS0 E ©0(&

(53% (Deh&gHn 2a%erdE T 25650 1984 J0500000d
EHooTPES H00 05N GHITDE T ‘6’:9%31650 E0es e® [SEASIIN

BPH5Y ENG ©0000D ITHEL HOZDoWwH 19858° o o i85 @l DG

0.0.00 @58 IS0 B>
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185. The limited safeguards of employment under mulki would remain in operation in the Telangana
Region upto the end of December 1980. In the case of Hyderabad and Secunderabad these

safeguards would continue only upto the end of December 1977. According to
(1) Six Point Formula (2) Eight Point Formula
(3) All Party Accord (4) Five Point Formula

&g SoHod® Boomn (Fozed8 dwd) ErHos® E0y0F & SEmen 1980 &0 § Hrdo
DHO HEH wHhHend® Gotron. 500 Zedorerd 0005 D8omrerd @od SHSdwo st o (e
©@d 1977 &0 § Hrdo DHD HBH @ wHond® sotron od BOD HE¥o

(1) &8 drere dEEo (2) on dorg dP¥o

(3) ©Po BE adyodo (4) DoWdrE DEEo

186. Match the following

List—I List—II
(a) Metpally (i) Bronze works
(b) Pembarthi (i1) Khadi
(c) Gadwal (iii) Bangles
(d) Hyderabad (iv) Handloom Sarees

& (800 T edDHoodw

e -1 D11
(a) LD (i) 18& >S5
(b) o o (i) &
(c) Hdargen (iii) mrezreo
(d) ZrSocers (iv) 38 DS

(a) (b) (c) (d)
() (i) ® Gy (i)
(2 @Gv) () (@ (i)
G O @y G v)
4 @y - Gv) () (1)
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187. The Government of India appointed a committee under the Chairmanship of A.K. Anthony
to look into the issues concerning the proposed division of Andhra Pradesh State and to
workout the modalities related to the division. The members of the committee are

(1)
2)
3)
(4)

Digvijaya Singh, Ahmed Patel and Mallikarjuna Kharge
Digvijaya Singh, Veerappa Moily and Gulam Nabi Azad
Digvijaya Singh, Veerappa Moily and Ahmed Patel
Digvijaya Singh, Ahmed Patel and P. Chidambaram

©0(& @35 0"y QPwd @rgor @é&ég}’)oﬁog [SESRISIUREY HoRnS*E 808 ¢
HOFY FHIE S drSder aB)y IMEDn rdE (Hebdgo AK. wofd egggEd

¥

(1)
)
3)
(4)

E0BD D0oVod. & ENGSED dgogen

afgedl Do, ¥irys HES Ho0d5» el &3
&hgmdd woh, 3653‘383303383 D808 Hoerodd) werd
BAgedS 0of, DEDHYBood $00n wirys HTES
&hgedd Doh, o8 HES Ho050 Do Jo

188.

Match the following

List-1
(a) V. Prakash
(b) Bhoopathi Krishnamurthy
(c) Muralidhar Deshpande
(d) Akula Bhumaiah

& (800 7B wSHEEHI®

Qa1

(a)
(b)
(c)
(d)

(1)
2)
3)
(4)

Q. (d5°R

Pro8 £y Hard
08936 BTrod
@Ho FIrH005 IS

@ G (@© @
vy @) (1) (i)
@11) (@Gv) @ai) 1)
(1) (@v) @) ()
@iv) (i) (@) (1)

List-I1
(i) Telangana Janasabha
(i) Telangana Mukti Morcha
(iii) Telangana Mahasabha
(iv) Telangana Prajasamithi

Lol B |
(1) SBeomrs 2d de
(i) Bwomrem Hn§ Ird)
(111)) Sewonrs K580

(iv) Soormre (De D0d
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189. Match the following

(a)
(b)
(©)
(d)

List-1
Jai Bolo Telangana
Shadow lines
Still seeking justice

Nyayam Kosam Telangana Nirikshana

& (800 2 EHSHSoRD

(2)
(b)
(c)

PR |
§ 58S Bwomre

>& BEN

?85 %80/ a?gf)

List-1I
(1) Shanker
(i) Prem Kumar Aman
(ii1)) K. Chandrasheker Rao

(iv) Osmania University Forum for Telangana

a1l
(1) %0&8&
(i) (D0 %36 @S
(iii) 3. SogFeb oD

(d) srgasoo §%00-Bwome JOE (iv) &JyA0i ohrdDHo )8 Fo HE Bvome

@@ ® (© (@
H @ (@) (@Gv) ()
2 @O G > (1)
3 @O aGv) @) (i)
4 @@ @) (Gv) (i)

190. Match the following
List-1 List-11
(a) Hiten Bayya Committee (i)  Salaries and pensions of the Government Employees
(b) Gangopadyaya Committee (i1))  Electricity
(¢) Koneru Ramakrishna Rao Committee (iii) Public Sector Industries
(d) Subramaniyam Committee (iv) Higher Education
Ss (808 TP 2SBDGosdw
eI eI

(a) BSOSy K (i) A ot & ghe ddFEghnen, Hosd
(b) Ko dgrgass Ee (i) Dogsy 8
(c) §°T& ordogyaroed M (iil) (Dghdg o Doped
(d) Do Hoewgo Ene (Iv) &3 8 g

@@ b (© (@
(H @ (@) (@Gv) ()
(2) i) @)  (Gv) @)
3 G @ (@Gv) (i)
4 @) (@Gv) @) @)
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191. Match the following

List-1 List-11

(a) Porakala Dora (1) Shanigaram Venkateshwarlu
(b) Whiteman (i) Dasari Laxmikantham
(c) Sahu (iii)) Muppala Laxman Rao
(d) Ganapati (iv) Ekkaladevi Sambashiva Rao
&5 (800 TP wEDHBoHw
a1 D11
(a) >dse &Y (i) 43680 ToETVHgY>
(b) IEIrgS (i) @006 @égs*’oéo
(c) o0 (iil) $0Iry¥ oF 6 oo
(d) o6& (iv) 28 0T JFo BIoH

@ ® (@© @
(D @) (@Gv) @ (i)
2 @ @) (Gv) (i)
G @O G 3> (1)
@ @v) a) @@ (i)

192. Which one of the following statements is not correct regarding 1969 Telangana movement ?

(1)
2)
)

4)

Telangana people questioned the idea of Linguistic State : A.B. Vajpayee
Telangana people will not accept less than Regional Autonomy : C.C. Desai

Prime Minister should consult Telangana Prajasamithi leaders before anouncement of any
statement in Parliament : K. Manoharan

Prime Minister should take political solution to the Telangana movement : K.L. Gupta

1969 Swomre @dgéoéwzés’o Do 0HoW &8 (80O @35%262633@6“% A& DOOHIE 5780

(1)
)

)

(4)

BoOomren (DuO grar (DOSNE 07R 9H0 rddd (DB )oWard ¢ AB. aredrow.
Boomren (Duen @“o@oﬁo 05080 DTTARE (HBHY g0® B8 & (DS ©oAEd0WS:
C.C. Baom.

FED0wS® Boomn D (HFPHH00B @ (DEGIB DD $00& Bvomrn (HerHdR S
SAHod dodbowmd : K. S8R,

(DF3500(8 Bwonre ﬁdgaéaéoosés’o ores§ %o D0 &) 8 D1 ééo?&_é@o‘éwéa :

K.L. #eam
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193. As a part of the Economic reforms and on the recommendations of World Bank, the then
Andhra Pradesh Government divided Andhra Pradesh Electricity Board into

(1) Generation, Transmission and Construction

(2) Generation, Transmission and Distribution

(3) Hydel Power, Solar Power and Thermal Power

(4) Distribution, Construction and Transmission

eagé foofoa_ésaéw@s o 000w (Do a?egoéa QU0 whoomr wdE wo(d
(BT ovhy (Do TmR9 Dogy 8 S0 Ko ckd dopeorr dFEoDos.

(1) &&3y8, SEHo" H$0B» Voo

(2) &8)8, DEHo® H20IB» Dowed

() =o I&gE, Ford DSogEy B0 LS DSogEy

(4) Doel, Yoo HI0dB» BEHo"

194. Match the following

List-I List-11

(a) Leader (i) Mamidi Ramakanth Rao
(b) Jai Telangana (i1) Munir Jamal
(c) Tenugu Vani (ii1) P. Janardan Reddy
(d) Telugu Gadda (iv) S.Satyanarayana
& (800 TIQ BEHBHW

eI rde-I1
(a) ds6 (1) HrDd gdrscodory)
(b) B Bworre (i) 06 2drd
() Blok a°ed (i) ». =rgS B
(d) B Hd (iv) 2%. {oésmmoﬁosa

@ b © @
() G Gv) @) @)
2 G @ (@) (i)
() ) () Gv) (@)
(4) @) @G @O @)

195. Who was the editor of Telugu version of ‘Meezan’ newspaper ?

(1) Madiraju Koteshwar Rao (2) Dasharati Rangacharya
(3) Devulapally Ramanuja Rao (4) Adavi Bapi Raju
W2l HBE Beoth (HBE HSH ABGET $0dO?

(1) draocer §5THE6 o (2) =488 Sommdogen
(3) BHOHO ordrdrwoeD) 4) o&d wrDocwe
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196. Which one of the following statements is not correct ?

(1) According to Gentlemen agreement, future recruitment to services will be on the basis of

population from both sides.

(2) GO. 610 was issued to rectify the lapses in implementing the Presidential order and injustice
meted out to Telangana people.

(3) According to the Gentlemen agreement the Cabinet will consist of members in proportion
of 50 : 50 for Andhra and Telangana respectively.

(4) In 1953 the Government of India constituted State Re-organisation Commission under the
Chairmanship of Justice Fazal Ali.

S8 (800 (DHTIII00S® B BTHO 57607

(1) g Hodote adoddn (H5°Edn FAhghs® adies’tTh JdrHsod) aoyr
@"@ééé_ﬁ 2 ofozron.

(2) 2.4. F0. 610 H IdrSe TN0O T°HIHB SE L WHIS® BEHSIS) F YD
D008 Svomrn (DR @EHHISIS) @I*gABaHNO I Q603 SESCI-RLLR

(3) g HJone wHHodHn (DseIDHN ovR 9 5155336505”3 gl (Froered wo(F-Bwonrs
(Froere @08 Ho0(® D&Hod 50 : 50 L HBS® sowed.

(4) 1953 &° 88 (Dghdgdn aRd pud ©d JEHEgods® crhodwe PIGT Fed
a8 Jd%oVos.

197. Before the States Re-organisation Commission many leaders expressed the opinion that the merger
of an advanced region like Andhra with a backward region Hyderabad State would lead to
(1) Backwardness (2) Development
(3) Disintegration (4) Internal colonisation
oargo DI ged RS dwok wror $H08 FoHhHer Beo 20D PP (H5eEEn
“@@ég%ﬁo&é o($ero8 (FoB08 T § (FodHH JIEoerd orRgtndy EOBIT
©d ®odomr HI8 0 H050H rdowd.”
(1) Jdoeren S350 2) @@égcg
3) DDQW’Qf‘Og (4) ©oddg HodH
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198. To oppose Sanjeeva Reddy ministry in 1963 who said “Andhra Government, seem to be a
Government of the Reddys, for the Reddys and by the Reddys” ?

(1) T.N. Sadalakshmi (2) Konda Laxman Bapuji

(3) S.Nagappa (4) K. Rajamallu

1963 &° BB HDoLHTE (Hep&gdndd ég@‘o“%foﬁ “eo(§ (HebEgim, 8%@ (He0Sg 0,
Tho 5% 0000 TEoT o argerglolod

(1) &.93. fow’eéé (2) Fom of & wr)d

(3) 0. AD) (4) 3. ccemdoon

199. Name the leader, who presided over ‘Telugu Bhasha Samithi’ meeting in July 1955 and asserted
that “Culturally Vishalandra was already a reality”.

(1) Konda Venkat Ranga Reddy (2) Burgula Ramakrishna Rao
(3) Madapati Hanumanth Rao (4) Mandumula Narsing Rao

1955 228 $r0508° 20Ad Beoth grar DM HIrTTI8 g HIrdr ol y@%om
DForo($ a8 rddm ad BT HarFod.” ol FgergdoNod.

(1) Som BoZd Son TG (2) rdho ocFyarord)
(3) Sdard TrdodoosorD) (4) Sododne SdyoHorD)

200. Find out the wrong pair concerned with Burgula Ramakrishna Rao Ministry in 1952.
(1) Mehdi Nawaz Jung — Public Health and Public Works
(2) M. Chenna Reddy — Agriculture and Planning
(3) Digambar Rao Bindu — Home
(4) Shanker Dev — Education and Village Development
1952 &° 28)&% o TRE)aroed) »o(@ HEINIEH Do 060D DD I 2 20?2
(1) Dord SaeE 2oh — Lﬁawé’sﬁgéw, (Derddo
(2) Qo. V) TE — HgHIraoHn H0 B0 (Dear®¥
(3) &do Sord Dok — wodIohs HgdTPore
(4) 4086 TS — D Ho005» (e ©DD)Q
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